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. This course gives an introduction to two linguistic fields that deal with “meaning”
M aaall" me lelay (pgd) llme 8 dedio )yhall e Jas
$. Semantics, i.e., the study of the conventional literal meaning,
Sl (3,5l (qandl dulyy (29 oIV
$. and Pragmatics, i.e., the study of the interactional intended meaning.

Jya.&a.” L}SL&.’L“ @&AJ‘ a.wb.) uﬁj 4&2')[;.‘3‘41”3

HH#

$. Semantics focused more on:
The conventional literal meaning,

HH#

$. Pragmatics focused more on:
The interactional intended meaning.

HH#
dodugadl] 8 poleall (po didyao Flice bo @ (gl
HiH

dadgaidl Bppleall dalgs
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Semantics vs. Pragmatics
O gludl Jslie oY

AN ‘:;la.o Et.wbs ‘.IbL&JSH 2\.‘3’.) c‘:;l:.o.” = EUB’-.U\

$. Both Semantics and Pragmatics are concerned with people’s ability to use language
meaningfully.
(G20 93) Gpin 93 S &alll plasisl (e (ol 8y a5 OWgladly WYL e S8

$. While semantics is mainly concerned with a speaker’s competence to use the language
system,
calll alas plaseil &b oy asiall (Alal) 8elaSs aoled Kt a8 W gl

. the chief focus of pragmatics is a person’s ability to derive meanings from specific kind
s of speech situations.
223l OV g0 B3z El93 (pe Bladl (oMl e (asid] 8343 (3 gl (3w, 2SI
(Qg-.k::” &4'4\349 cﬁ}m\ L..Q.§|3,o)

. ) i.e., to recognize what the speaker is referring to; to “fill in’ information
that the speaker takes for granted and doesn’t bother to say.)
§9rae P FUNCEN O] Ologlao (4945 c‘a)su,o Sdoeiall dd] pdog (250 b 0gd c W gldl 4ol g0 el yo

2,85 a4l os lgie
L QG e e

< Said by a beggar who has not eaten all day.
logzr Hguaty 1 ad dualy &l (gaey cpsdll dlgh SU o guudlo Lghghs ud

¢/ Said by a child who hopes to put off going to bed
Sled Tl S5 o) Olg cnlyd ] 43 dsgo Juz b Told Jab Lg)gay ub

.\ Said by a man who wants to have lunch with his co-worker.
Janll 3 4o g slall gl iy 45T L3 (po s o Ll o3

The 3 events obviously have something in common and yet, they indicate
Different intentions and are liable to be interpreted differently because the situations
and the participants are different.

@l oS Calizes St st dupye (19S5 9 dabiseo blgid i3 Lgild 3 aog cgudly s g B lusYl
plisee (a3lgall (3 cnSHlinally Ladlg
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: S o g0l 1 Lo il

— Both Semantics and Pragmatics are concerned with people’s ability to use language .
Meaningfully
Hit
—is mainly concerned with a speaker’s competence to use the language system.
Semantics
HiH
— Semantics is mainly concerned with a speaker’s competence to use

the language system

Hit
— The chief focus of is a person’s ability to derive meanings from specific kinds of
Speech situations. Pragmatics
Hit
= The chief focus of pragmatics is a person’s ability to derive from specific kinds of
speech situations. Meanings
Hi

=} The chief focus of pragmatics is a person’s ability to

derive meanings from specific kinds of speech situations

HHH
= "To recognize what the speaker is referring to", is an example for:Pragmatics.
Hit#H

= "To “fill in” information that the speaker takes for granted and doesn’t bother to say", is a
n example of:Pragmatics.

Utterance vs. Sentence
Aerdl e § Uil
ﬁ%(g,gu\} D cdjﬁ L@ijs USA.) cwu‘)” L;Q C,QSQ! ST L}uUtterance &»y
-”dﬁ-.é” ML TA}A.C

. An utterance is an event that happens just once; a sentence is a construction of words
in a particular meaningful sequence.
(20 93 Judid (§ Ol (po S5 (2 Aol lass € 1288 Bu>lg 8o o ol g2 Jodll

$. The meaning of a sentence is determined by the meanings of the individual words and
the syntactic construction in which they occur.
A G (Gl (($goedl) el gall (slidl) Sl e g 83yl GBIl Jlas e Aoz (Gan Suxiy

. The meaning of an utterance is the meaning of the sentence plus the meanings of the c
ircumstances: the time and place, the people involved, (the physical-social context).
(§JLQJ‘ éw‘ 445:9 M‘ uuUJ‘ ‘O&Aj‘ﬁ CAS}” Idjjw‘ GL&AJ &SLso}’b Aol S0 92 d}aﬂ (S0
.L?cw.?-}ﬂ
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sl Lo Jbo
E.g., Our visit to the factory was wonderful.
Aa3ly o8 zwasd) U515 :Jbedl Jaow Ao

: Sauoell A Lo Al

3 is an event that happens just once.An utterance
HitH

= An utterance is .an event that happens just once
HitH

=} is a construction of words in a particular meaningful sequence. A sentence
HitH

_’

= Asentence is

a construction of words in a particular meaningful sequence.
HiH

= The meaning of a sentence is determined by the meanings of:
The individual words and the syntactic construction in which they occur.
HitH

=} The meaning of an utterance is the meaning of:
The sentence plus the meanings of the circumstances: the time and place, the people

involved, (the physical-social context).
HiH

=} How can you determine the meaning of an utterance, such as "I’'m hungry"
Through the meaning of the sentence in addition to the physical-social context.

Implicature
Lollasd)l dojMial!

Implicature:
dusllasel! doyMiel!
An additional meaning; a bridge constructed by the hearer to relate one utterance to som
e previous utterance (unconsciously.)
(9 @l 5T Ushs Lo g8 Jasy) anall b (p0 (8o iy Abl>) ih Sz c3UD] Gmo
N JGe

Barbara: How did you do on the examination?
Adam: | think I'll just drop this course.
Dbl § cdad Bl )b
.‘_}.,a.b_ll RV “."""’.)L" L;T Ji’LCT Z(J.)T
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YJdbe
Jim: Would you like to go shopping tomorrow night?
Laura: We have guests coming from out of town.
M Tue B guil] Clalll L & 1o
A )y pesls Cgus Lyl theY

S o090l Jd (Ae DL

—

(unconsciously.) is:

Implicature.
#ittt

=} Connecting one utterance to another previous utterance unconsciously is known as:

Implicature.
Prosody<gbail! gl (292!

Prosody: A spoken utterance consists of more than just words.
Ol 3520 (3o AST pauais Bolaie Jgd 109l A& 9l gl 9l (9,3l

In speech, meanings are communicated not only by what is said but also by how it is said.
A JB @ 4l e (09 Wi e e Jadd el dladye Glaedl codsdl §

cJbad! Joww (Ls
A: Has the Winston Street bus come yet?
FOgudg &yl ddl> Cndd o

B: Sorry. I didn’t understand. What did you say?
Tdd 13ke . 0l o . ias]
HHH

C: I'm afraid Fred didn’t like the remark | made.
VIRV FERV FUV-PLIR VI SO ORI U

D: Oh? What did you say?
Cedd 13 Sogl
Hitt

E: Some of my partners said they wouldn’t accept these terms.
o9l 0dgs 19k o) Cdguw N—’b JB 38 A

F: And you? What did you say?
Cedd 13Le Selie 13Leg
Hitt

entsab.com $D@AGannat2060 @b : M RED@AbuAl7arith @Mﬂ'gmyuﬁ‘,@ é)bmgg‘;b?,‘)ﬁ R
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G: You're misquoting me. | didn’t say anything like that.
) 1 oy B JBT o (8T o W s i) e ol el

H: Oh? What did you say?
Tedd 13l o
HitH
Byl 9l Aazdl 0dd (glaig slol disylo pe alis pui oS Al lgoliS (9SS Ul dlaz oMl

Non-verbal communication:

(Jaall p ol gl

Non-verbal communication:
There are some ways of using the voice including e.g., laughing, giggling, and crying that a
re vocal but not verbal. These are called paralanguage.

Gl . dudad) o LS A gao a1 cdghghll clounll 1ppauaid Ogsall plisuiwl § Gylall pan cllla
(sl gyl (ST CSlir) gl dis tlgde

Similarly, there are visible signs, gestures, ‘body language’—which possibly create an effe
ct on the interpretation of a spoken message.

A8 ghaiall Dyl puds e 50 (s OF Jotod (21 o 43 clsla] ccolylan] el Jindbg

! Saogall J (Ao dlinl
= All the following are examples of paralanguage except for:
s 5 0555 Dl cigudla Jio
taughing:
Crying:
Nodding 13 LYl ksl b Y1 Jballes
Hit

= Paralanguage can be found when the speaker is: being vocal but not verbal.
HiH

=} When a speaker is being vocal but not verbal; that is known as: Paralanguage.

HitH

—

3 Which of the followings has tones that would possibly change the interpretation of

a spoken message? Prosody exascd!

HHH

3 « possibly create an effect on the interpretation of a spoken message. Gestures
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Consider these visual signs:
(& padl Slodall) dudyall LY yaz,

4 yadl LY 0da (3 Lol

% Nodding the head in response to an utterance.
Lo Js) BolowiafS bl Boloy)

% Pretending to yawn, with finger tips in front of mouth.
]! (aLo;\ @qu;}’\ Blybl Jazg cojldl alaill

% Holding up a thumb from a closed fist.
Aalae 428 (e plg)! 28)

& Pinching one’s nose closed with thumb and forefinger.
Aoladly pleYb pausT il yad of (o,

& Shoulders are moved upward and down again, possibly repeated (‘shrugging shoulders’).

oS 3 € ,She JSa 0950 Loy cJand (63 8309 (AeY OBy Sl

& The palm of one hand is brought up and slaps smartly against the forehead.
Ageed! digme Ayl g Lgad) oty cpadl AT Ay

% The hand, slightly cupped, is pulled across the forehead as if wiping something away.
Lo 5o e oy 38 Azl 398 Caomudg OB Ul 255

! S oo gall d Lo Al
Shrugging the shoulders is a visual sign that could be equi valent to saying:l don’t know.

U

HHH
= Slapping your forehead with the palm of your hand is a visual sign that could be equi
valent to saying:l forgot.

J9Y) Bpplall Aol
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(Y) 8rolxo
Semantic Relations
Gl G oo OGS gf YW Bl
Semantic Relations Among words
Ol e AV B!
In everyday talk, we frequently give the meanings of words, not in terms of their
Component features, but in terms of their relationships.
e 2o o9 (dauS Al Astdl @lauolge e 2lo udd colal Olan 5,800 Sty Jans ¢ 294l L 3
Lgde ) ) )
bl o (Ae

+ the meaning of “shallow” is the opposite of “deep,”

4+ the word “conceal” is the same as “hide,”

+ and “tulip” is a kind of “flower.”
VP oo g (B gl By)

Examples of the lexical relations types are:
(P cdrazeacdl BNl £lg3l (Jo Aol

> Synonymy,<8s| Al
> Antonymy, Guall gf sl
» Hyponymy, Jgedis el
»  Homophony, et
» Homonymy, Jaalll 2l
> Polysemy.3lxall suas
> Synonymscas| il

Synonyms: are two or more forms with very closely related meanings, which are often,
but not always, interchangeable in sentences.
o) 0Sd9- 09S3 (Blg S S Aaalie Olaeny dplais Olaey (WIS auall o AST o il (& las| ]!
(Jodl (3 Jolall AL -Leslo
JU! Jow (fo
+ broad/wide,zwly
+ aImost/nearIy,’L,g,.B.”»
+ cab/taxi,by>1 8yl
+ youth/adolescent, b of 284
+ purchase/buy.s! <

entsab.com @A Gannat2060 @i 3 M RED@AbuAl7arith @L&éﬂ‘g.MYN‘MSJW‘H‘h'}A xR @



https://twitter.com/AbuAl7arith
https://twitter.com/AGannat2060
http://www.entsab.com/vb/

There is no “total sameness.” One word could be appropriate in a sentence, but its
synonym would be odd:
3L 0550 uB gdalye oS (e (3 AeSDle Lok Slid (955 06 a1 o3 Ui et

Jle

»  Cathy had only one answer correct on the test.
DYl § dovoe Buly Ll L) 3F

Answer Jos Joxi 4ok ai o Toyas JUdl @
Synonyms differ in formality: :d&luall (§ calizs ©ls| ol

My father purchased a large automobile vs. my dad bought a big car.
B8 )l QT GBI (e 3) BAS &Sy I SR

Aabizeo OlelS Leluay (S (220 lwizjcdlzd\\.l\mé
HH

"My father purchased a large automobile" | can change the sentence into "My dad bought
a big car" if | want to sound: less formal.

Antonyms BSall gislal

Antonyms : Two forms with opposite meanings are called antonyms,
Ol lath of lbbats lgale 3l dalises Glass cntalS of (riimo

JUo)l Jww (Ao

» quick/slow, s das / g
> rich/poor, xd8 / &

> old/young,olis / g AS
> alive/dead,cue / (&

> true/false.tbls / e

%t Gradable antonyms can be used in comparative construction,
L)ladll LSl (§ plseiad OF oSy zyild Aulall ldlaiell

bigger than/smaller than.cw yiuol / e AST

% The negative of one member of the pair does not imply the other:

291 e ety o o5l Y sl el ast s

lguSe 98 3gsaiall qaal OF ga Y 14a (Aol 45 bodie Jaly
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sl Lo Jbo

He is not old does not imply He is young.
Cle 4l 8)9 520l G Y S pud 90

With non-gradable antonym, the negative of one does indeed imply the other:
AUl 00n b (839 0L (5531 AU O g eIl AT (5 (il el e sbadl e

He is not dead means He is alive.
.@é\&)gﬂbll_)&gw"cww:\.‘jﬁ

Reversives mean not negative but to do the reverse,
oS Jos (225 S ¢ 21 (225 Y OluSlaiad|
JUadl Joww (Lo

> tie/untie,cla / layyp
> enter/exist,zy5 / J5L
> pack/unpack,zia / i
> lengthen/shorten, mads / Jb)
> raise/lower,Ju / g3y
> dress/undress.duwde g7 / (s

P g0 gall dp Lo sl Al
Identifying the pair of non-gradable antonyms among the following:
male and female
e L>J.‘>T ‘J‘é.u.d
dead and alive
Hit

Reverise is one type of antonym, which among the following example is reverise:

pack and unpack

Db b, T Jlsen

dress and undress
HitH

odlgwAntonyms 485> e HLasYb (zo ad¢
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Hyponymy
doryoiad! dadSJ! 9l ¢ guaiadl dadSJ! 9l J gacdinal! @us!
Hyponymy
means the meaning of form is included in the meaning of another,
(53 Do o1 A (ane 3 e 9 pRuais Al ol Aiall (aae OF (s

JU! o (Jo
= tulip is a hyponym of flowers,a) § (zsie) Jgadio gl (2 (13251 E1931 (30) ard o3l
+ dog/animal,0lgs> / 5
+ Chihuahua/dog, &/ (Lol Y (10 £95) 19)guis
< carrot/vegetable. las/ 3>

Not only words that can be hyponyms, verbs too.
JdYl a> b cDguario 9l U gaine 3955 OF (S daiid slowdl Cud

JU! Jow (fo
cut, punch, shoot, and stab are co-hyponyms of the superordinate “injure”
AV 455001 93 eI Jadll (3 domyiing Ugadus slowl lg3sS (3 SRS @S (palay U (3l ¢ oSy calais

! Soudgall d sl Al

=2 What is the semantic / lexical relation between tulip and flower? Hyponymy
=t What is the semantic / lexical relation between banana and fruit? Hyponymy
Hit
a1y g 0355 A5l S0 3
Homophony Ul
When two or more different written forms have the same pronunciation, they are homoph
ones,

Ol lggle 3las ¢ glatll i dgiSell LI (o dalises fual 0550 lodis

s el

(ol iy 315 S0 Akl Al 2 Liro)
» meat/meet,
»  flour/flower,

»  pail/pale,
> sew/so,
»  see/sea,

»  bare/bear.
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HitH
L Sosb g0l Ja Ao A
— They are more different written forms that have the same pronunciation, what are they?

Homophones
HitH
) What is the semantic / lexical relation between meet and meat? Homophony
HHH

daiasll Lﬁd& O O’lj‘}“’ﬁi I 32 &"933
Homonymy Jaall 2 fiol!
When one form has two or more unrelated meanings, they are homonymes,
Lad) i lgde gllay ST 91 cpinn g cBusly dlS deluo

s dliLel

» bank (of a river) — bank (financial institute),

» bat (flying creature) — bat (used in sport),
Ll s § pdsuiu Al Gpaell (o5 a3 9l ¢ jalasl play Sl Bolall (o5 UBbat

» race (contest of speed) — race (ethnic group)
Adye degazmo (G 23 ol de Bl =5 Ldrace

» mole (on skin-animal)
WA Olgum (aa3 1B 9 Ol il e uzg5 (&)l delidl aa5 uBmole
) Hit ) )
P Paudoall Jd ot i i
= What is the semantic / lexical relation between race (the contest of speed) and race
(the ethnic group)? Homonymy.
HiH

— The word bank (the side of a river) and bank (the financial institute) are recognized as:

Homonymy
HitH

o5 9f Jlgus daailla yc 2393
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Polysemyglasl! sdai

When one form has multiple meanings that are all related by extension, it is polysemy,
Slaied A gsane basaz Aadye Bodats Olas e (L9550 dbluo) Buxly dalS Cinsias 0]
Glaal 20 Lgle 3l Aol ol
JU! Jow (fo
» head (the top of your body/the top of a company),
3401 by 4o Juads U89 el el 4 uuads U8 chead

» foot (of a person, of bed, of mountain),
e w9l 2 9l cpased =) g Juads U8 foot

» run (person does, water does, color does).
C)}U\ C)lgjéji N C)l_gﬁji u'afﬁ gL L"S""". J9Run

: S oudgall d sl Al
» "The head of the company needs a new secretary" what does this sentence contain?

Polysemy.
HitH

¥ "Iragi head seeks arms" what does this newpapers headline contain? Polysemy

HiHt
A8yl sda e oVl gew 9f Jlgue 2393

How do you distinguish between homonymy and polysemy?
?L";bud\ ddalg u!a.aU\ S faed] e S
Hitt

Via dictionary. gl plasiwl
Hit#

Date (a point in time)duw) dads a=s
Date (fleshy fruit) yo3 (oa3 )
So they are homonyms. J2al .ﬂﬂm"@ L I 03]
Hitt "
> Date (on a letter)dls) e 7o)l o525
> Date (an appointment)éucige (sa5
> Date (a social meeting with someone)s&) s

So they are polysems.dlxall suad (p La A= 03]
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31 8 plonall g

: A B pdo el
Semantic FeaturesdJYu! Oliyolgall
One helpful approach to study meaning could be by the means of accounting for the
“oddness” we experience when we read sentences:

dosiad (@l ozl 51,3 i (39dadl) Al Ol S5l 0955 U8 anadl sy (3 delud (@) aliodl a1

ALl Ui e (g
NPV NP

» The hamburger (NP) ate (V) the boy (NP).
Al STy el

» The table (NP) listens (V) to the radio (NP).
FLdeld dglall poiasnd

» The horse (NP) is reading (V) the newspaper (NP).
Adgouall Olasdl la

The oddness of these sentences does not derive from their syntactic structure. According to
the syntactic rules, we have well-formed structures.
0! S Dyl delgall 8898 (S 9onill (Suel ol g3l o LenSyi oye oy o) Aol o (§ 3gdadl of dolyall
e et dliaa oz Lo Wafh

These sentences are syntactically good, but semantically odd.
led (axal &b fpo AV AUl o LS cdoame A5LL) duSHI dogzeidl dydel g8l dm Ul (po Joddl 0
Aolyeg 9dd

The hamburger ate the boy.

gl STy el
Dgdig dulye Lgud Aozl ol J

Since the sentence The boy ate the hamburger is acceptable.

What’s the problem?
T3] Alad! (3685 .

»  The components of the noun hamburger must be significantly different from those of
the noun boy, so only one can be used as the subject of the verb ate.
el d add JWbg g el (§ L;Jl G e dalisee b goke SS9 0555 OF oy neld oY <L gSo
ST Jaal) JelaS puscian of oSy
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»  The kind of noun that can be the subject of the verb ate must denote an entity that is
capable of “eating.”

(S e 8508l ) OLSI 1439 305 OF ez ST Jadl Nelb 0955 0 W oSow (21 Ol g3

»  We need to determine the crucial semantic features that any noun must have in
order to be used as the subject of the verb ate.

(ST Jadl) JelaS pasuin O Jol oo gl (§1 Loty OF comy (1 dolg)l YA edle s ) zlises

»  Such an element may be as general as “animate being.”
L Trase 91 BLS 0550 of o SU 0 4B aoud 3655 OF ez GUI _yasadl o OLSTI i oo

We can then use this idea to describe part of the meaning of words as either having (+) or n
ot having (-) that particular feature.
OS5 @ Ol + ddle pual digan Ao Je ot S8 OB L0l (o Cauo ol 8,Sal ol plusuin LoSay
1S g - dedle puscinud dasall 0dd (rauals

So, the feature that the noun boy has is “+animate”
animate+ (& Wy pewdl @Sy (I dasall 016 14 g

and the feature that the noun hamburger has is “—animate”
animate — (& ;2 seld ewdl lgSay (31 dasally

=t What is your opinion about this sentence: "The table ate the sandwich."?
It is syntactically good but semantically odd.

HiHt
= What is your opinion about this sentence: "My horse studies history."?

HHH#

Aeloall sdo Jias s Jlg obs3
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Componenntial Analysis

S el

The term componenntial analysis is a semantic approach which assumes that word meaning
can be described in terms of distinct components, many of which are binary.
@b sSall e 2o Ao g oS dal o Ob o2 AR Y5 gie 9 (2sSHI Jadomid] gl (S Jedom)) pellagas
A58 055 Lgdle (§ (g el

Components are qualities embedded in any word’s meaning, like the ones seen in
dictionary definitions.

cowel g8l Olinylad (3 Ll (&I Jie (Aol (5T gae (3 Disandl lasall (p Ol gSW|

Jholl o (Jo

Dog refers to a mammal. Also, it refers to domesticated and carnivore.
p97d STy Cadl Olgam i 9 W3Sy .obudl JI sie LIS

JUIE Sliall Jeted iaSay A, lall odgg

» Dog [+mammal] [+domesticated] [+ carnivore]
P9l BT oy cdadYI Ll gaandl o el oo LIS

»  Wolf [+mammal] [- domesticated] [+ carnivore]
p o=l BTy @Yl blguell (po uodd el (e e LS

» One typical example assumes the features ANIMATE, HUMAN, MALE and ADULT.
cjb 955 cQLw.S! ‘& JIA Qlﬁ.,o\_yo ORALS Lﬂ;’J\ 2\&33&/\” Y A

That is known as componential analysis. This approach is used to analyze the meaning of ce

rtain types of nouns in terms of semantic features.
lgo e 2ly slowd)l cpo diwnn §1g3l (ane Jdowtd pusitu el 1o . S o (2095 Jdowtdly CByms Lo 9 1o

YUl glaws
Hit
Analyzing meaning in terms of semantic features
AV Olaall Le 2Ly aaodl Judoxs
SA Sl 9T (2095 ol (ANl oliall gt Jgdad! 13 (e

Table | Horse | Boy | Man | Girl | Woman
Animate - + + + + -
Human - - + + + +
Female - - - - + +
Adult - + - - - -
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Miod
Table b o

AU e dglall
d> Cawd 3L
Oluad] ) a5 LY
& Caad 185939
b Gt 151
-l Dglall duidls lasall 5 Ul crinlis aiia Jrod

Woman e Gis o

@l b
du> 3l
Olud] 1dsludy!
RS
FHTNN

{9l lagd 0555 diyhally:

Sl § Jgdadl 1 ¢pe Il A2l disyla) dliel b (o 4379 (A83dla 7 JuSiiwsly

We can also characterize the semantic features that is required in a noun in order for it to
appear as the subject of a particular verb.

onre o) JelaS ygbay o Ul (e el (8 dyyg pall AVl lasall Jtal Ll aSKa

The is reading the newspaper.

<

sl s <.onn

Olud] ¢ Jble pass dioue iy I 050 of Y Jall g
OLus] 0950 O 98 1,801 138 Sy (29,00l M1 eusdl) Dygllaall J 931 dasalle

N [+human]

This approach would help predict which nouns make this sentence semantically odd.
B3 of duoye Aozl 0 Jazs O L) Sy slowsd)l (5T aBg3 (§ el rgioll 1

)table, horse and hamburger)
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O] et LY golaseia] rlsay Y slawsYl 0

?(O:J.ML.ZU 2Uon djé ('S-og Y
@ML@ C)l.,a;-j;l
Ao iy ;2 p0la ol

The approach is only a start on analyzing the conceptual components of word meaning,
but it is not without problems.

il (30 e Y geiall 1 oS cAalSdl el Banliall lbgSall Juloxs (§ Aoty Jas g zrgiall 1o

For many words in a language, it may not be as easy to come up with neat components of
meaning.
camal) a5y g LY Ngwo 0950 Y U3 cdalll (§ LSl o il (3

Nouns, such as advice, threat and warning
_);)u\.?lj cu\gJ..@.'S cw J’LA ;Lo.wi

Hitt
: S ool da ylas! Al
What are the semantic features required for the subject of this
sentence: " is travelling with his wife to London this week."
[+Animate, +Human, -Female, +Adult]
Hit

What are the semantic features required for the subject of this
sentence: " is going to marry Sarah this Friday."
[+Animate, +Human, -Female, +Adult]

Hit

Sl Sl Jlglla

.
3

(1) rilono g
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(£) Bolme
Semantic/Thematic Roles&ams!gall / EIVUI ylgaYl

Semantic/Thematic Roles
Eapolgall [ &IV 199l

The “roles” words fulfill within the situation described by a sentence.

oo 48 guo goll (OYIl) LaBlgall e 3ao5 "HlgaNI" WS

(Jbs)
= The boy kicked the ball .8,SJ1 W)l )

= The verb describes an action (kick). .Sy &> Casay Jadll

The noun phrases (NP) in the sentence describe the roles of entities, such as people and
things, involved in the action.
dsdl (3 diesaiell sl wldl Jie ccobBLSII laal Canal dlazedl (3 dosed] Olyliall

We can identify a small number of semantic roles (also called “thematic roles”) for these
noun phrases.

Al Ohladl 0dg) (Eamdlgall Hlo Ladl ede 3l l9) VI 1991 (pe Juld sae e CByatll LSy
Agent and theme §g290llg Jolall

The boy kicked the ball 8,531 gl )

One role is taken by NP The boy as “the entity that performs the action,
” known as the agent.
Jaladl tade 3llay el (5350 SV aiall of OLSII HLasl "W gl deasdl 8)liadly oUANI 5l

Another role is taken by the ball as “the entity that is affected by the action,” which is called
the theme.

Eo9all tadde 3l asdl LAl el of oL laylacl 8,SIL LA 4531 gull

The theme can also be an entity (The ball) that is simply being described
(i.e. not performing action), as in The ball was red.

@ Il Jio famly oot of (S35 Y il (qos oy @i I "8,SU1" paie 5T OLS 0950 OF (Sw g0 90l
.;b.oo- 5JSJ| LJ_9:9

entsab.com @A Gannat2060 @bk 3 M RED@AbuAl7arith @L@ﬂ‘jmyuﬂ‘,@éJW|H| dal o (R ﬂ@



https://twitter.com/AbuAl7arith
https://twitter.com/AGannat2060
http://www.entsab.com/vb/

Agents a’nd themes are the most common semantic roles.
Lo gads ASYI AUV Hlgadl (2 audlgally Jalgall

Although agents are typically human (The boy), they can also be non-human entities that ca
use actions, as in a natural force (The wind), a machine (A car), or a creature (The dog),
all of which affect the ball as theme.

olie 5T OBLS 0gS5Y O L) oSa 46T Y] ¢(Aulud] i) ABle 095 b Bale Jalgadl 068 o0 01 e
S8 E(CIJ1) ol ghseall 9T ¢(8ylandl) YT ¢(by)l) Anpalall (598 ao Jlodl Jio fdipnn ilusly a5 A5 Ll
M58 ode Ll (3 98 I Eaabgall e 5352 OF oS Lo

»  The boy kicked the ball..3,SJl WJgll 5
> The wind blew the ball away.law 8,01 7wl < ib
» A car ran over the ball..5,SJ! (ie 8)led! Cwdd
»  The dog caught the ball..,SJ! LI Jadsll

Hitt
s Al
"Sally saw a poor man sitting on the sidewalk." what is the thematic role for the name
phrase "a poor man" in the sentence?
Theme

Hitt
A5yl (o e Wllges o Jlgus 2B g3

ThemellyAgent JI 455>
Instrument and experiencer<i=xallg 8153

If an agent uses another entity in order to perform an action, that other entity fills the role
of instrument.

.5\5}’\)_9..\9 ‘03.5:: PASI\ﬁa.LaJ\jT QL”JSJ\ U3 o o> 9\.)1 d}i R B}Tiﬁa&ji T)‘:&SJALC fJé;’Lw\ ul

S
> The boy cut the rope with a razor.wgelb Judl Woll adad
a razor = instrumentslsY g2 la yugell

» He drew the picture with a piece of chalk . &l dalad plasuiwl d>gll 48 eu)
a piece of chalk = instrumentslsyl (» i)l dalad
HiH
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When a noun phrase is used to designate an entity as the person who has a feeling,
Perception or state, it fills the semantic role of experiencer.
16 fduan Al of csl)d] ¢ pe i ) G pasead! Jie ¢ sobadl o OLSII dodoet) duasl 8)lue Cndsuinl JI> 3
(Al dde 3l AU Y 9l 3hoe L & )

If we see, know or enjoy something, we’re not really performing an action (hence we are
Not agents). We are in the role of experiencer.
U (5 JWbg) cnme odzes pgis Y 90 Aol (3 clo ool "ot 9 Caymy (5" OIS Mo clasy o)
el dde @llas VA1)l Al oda (§ . (Dhes

In the sentence: (( The boy feels sad )), the experiencer (the boy) is the only semantic role.
Aol @ RVESN] d)’ﬂ‘)ﬁﬂ\}ﬁj WNoll 92 Oymall "O5adb Wgll yain" dlox L?

In the question, (( Did you hear that noise?)) , the experiencer is you and the theme is that
noise.

sl giall ol ZleiY) G 90 Eoubgally cil 92 Ly oyt ¢"Sles Pl elld Conow J2" 115l

Hitt
e o g0l I Lo LS dliwl
Mary saw the cat over the tree", what is the thematic role for the noun phrase "Mary"?"

Experiencer
Hitt

Which of the following sentences has the thematic role "Instrument"?
The boy cut the rope with a razor.

Hi#

Sally saw a poor man sitting on the sidewalk.", what is the thematic role for the noun"
phrase "Sally" n the sentence?

Experiencer.

Hith
Vb pllge Al (do (e ) (2 285
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Location, source and goal

Buglly ¢ yuas]l <29 goall

A number of other semantic roles designate where an entity is in the description of
an event.

b Gd> Loy § grae_sase 9l ul:S&Ee Ol duss (6,31 VI Hl9aVl e due

Where an entity is (on the table, in the room) fills the role of location.
295l i VA1 Houdl 3ase (43,501 (3 Jo dglall e Ja) aial of OLSII ads el

Where the entity moves from is the source ( from Jeddah ) and where it moves to is the
goal (to Abha ), as in goal

Dduas| ZL‘;})-\J\)}.\J\}Q BV (Sbﬁ B (o) QQSJ\ i]_):ﬁ.e u;\ OR
Bugll 150 L Y1 5901 (e (gl J)) paiadl o OLSI! 2ymmiy (il )
:Jbe

We drove from Jeddah to Abha..lel JI 84> e U8l

Hit
: Padgall db (Lo HLas Al
Sally saw a poor man sitting on the sidewalk." What is the thematic role for the"
Noun phrase "the sidewalk" in the sentence?
Location
Hit

On her way to work", what is the thematic role for the noun phrase "work" "
in the sentence?
Goal
HiH
On her way to school", what is the thematic role for the noun phrase "school""
in the sentence? Goal
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gl yaisl B (M1 dual gadl of IV lgaYl
All semantic roles are illustrated in the following scenario.
AJW) Ol goyluwd! (§ dlios adyul eVl S
6 Latifah saw a fly on the wall.
» Latifah: experiencer
b afly: theme
» on the wall: location

HitH
¢ Latifah borrowed a magazine from Ahmed.
» Latifah: agent
» amagazine: theme
¥ from Ahmed: source
HitH

3 She squashed the fly with the magazine.
’ She: agent
) the fly: theme
) with the magazine: instrument

Hi#
3 She handed the magazine back to Ahmed.
) She: agent
» the magazine: theme
» to Ahmed: goal
Hi#

= “Ooh, thanks,” said Ahmed.
»  Ahmed: agent

Hitt
:au8 o) Al
Mary saw the cat over the tree" what is the thematic role for the noun phrase "the tree"?"
Location

HHH

Mary saw the cat over the tree", what is the thematic role for the noun phrase "the cat"?"
Theme

dasl | B soloeadl gl
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(0) Brlona
Prototypesd>3geill JgsoVl

One fact about concepts expressed by words is that their members can be graded in terms
of their typicality.
Caiual OF (S Lgsd nSidiall T asliac] O 9o LI plasuiuls lgie il o ) eadlandl Jg= @ladl oy
A gadl Lglal e 2l

A good example of this involves the concept BIRD.
b f:}g.iuélléul.cali;)’\y

<. Even assuming that we all think of a bird as an animal that lays eggs, has feather and can
fly, we still feel that some of these creatures are more birdlike than others.
Dyad O] collall Sy (il ellasg pand) gui ) Olgandl 92 i)l Ol LublBl 0 o))l e
W oo AT LoV SUall 3908 duiid B glseadl 0da (pe Lasy 0 Lo

. While the words canary, dove, duck, flamingo, parrot and robin are all equally co-hypon
yms of the superordinate bird, they are not all considered to be equally good examples o
f the
category “bird.”
O.’ﬁjjb ;la.u.” 435.@}1.0.”_)5&) U"’ﬁfi“:‘“ ‘SLL:.: cdolo> q§)l.«5d.m uLAS{,«BJ«u.? L§JJ| C,\.:)jJ\ u,u.a.a Lg
pdo oY) € 3" 45y e aaall ¢yo (oo Ao slowed) Ugoidins slowsl ind lagaz (slizd! ool 31b)
M Cais of pad e T Jlio s Y LAY

. According to some researchers, the most characteristic instance of the category “bird” is
robin. This idea is known as the prototype.
8,Sal od §(sliell 9al) cpgl yilo 9o " 5" Caial Beell dasall e s S Jbiadl el (and Tadg
A3 gaidl Ao Lgle s

. The concept of a prototype helps explain the meaning of certain words, like bird, not in t
erms of semantic features (e.g. “has feathers,” “has wings”), but in terms of resemblanc

e to the clearest example.
Lol arazd) LY Glawe e sy ud €5l Jlo cdipnn Ol (qan pundd (§ de bl 390l ALY pggin
(oY 3 gaidl ol (350l JaoYl 529 WYl b gl ao wladll Suke e 2Ly L) ¢(dony iy Lo Sy

<. Thus, even native speakers of English might wonder if ostrich or penguin should be hypo
nyms of bird, but have no trouble deciding about sparrow or pigeon.

oo ol @yliiel (Say (33kadlg dolasdl 38 0) BT g gleludy of da) LdawiYl padic ygiad (pdll o 108y
Aslox 91 Hsduac dlad) § Wie AsCis pgad Ludy 50 J (o zyuiy ewel) J9

These last two are much closer to the prototype.
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.29l Pl 98 (23gedl Ja2Yl " pilb" Canal Al 929 ¢ 2390l uoYl (10 Tur (pr0y8 dalasnlly ygisasll

The following is a chart showing the ‘prototype’ of a ‘bird’ based on the judgments of Califo
rnia undergraduates (Katamba 2005)

15986 qmole oS> e olsiel yillall  23g0idl (oYl b g Jalases b Loud

Birdiness Rankings

ok .
Penguin

Jwslb 4‘."‘}?-.\.‘
/ Peacock - ,«‘{«&

!

N _‘1\‘ :4
I ¥
heas‘an}};)’ P Aslsi
) Ostrich

What is prototype then?$ z3geidl o¥l galo
Prototype is about mental representation of meaning or categorization.

il 3l (qaed (523 el 98 (23500l oYl

. Let’s define a bird: has feathers, grows from an egg, can fly, makes sounds and so on.
...L:\S.Qj fc;b.,oi_)..\.,ae «Olpdall 4.&3 cduan P 9o ¢y ) ZJ.‘)UQ dJ.su Leod

<. If | asked you now, if an ostrich or a penguin is bird, chances are high that you would say
yes, while they don’t fit the definition. And this is where prototypes come into play.
iyl ae Olasdiy Y 0l o) ¢ oo ST a1 JlasimYI €5l (3,kadl ol delasdl Jo 2091 el )
Agdnall (3 (2350l JuoIl 595 b Ud (5e9

. What we are dealing with is a gradual categorization of meaning within an instance of re
presentation.

(S gl Mi T390 J3 (gaed) ooyl Caduaill 98 dan Jolail Lo

. A prototype is an object or referent that is considered typical of the whole set.
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<. Thus, if you encounter the concept door in isolation and immediately think of a door swi
nging on hinges rather than one that slides or rotates.
S ond S QW oo Yo Aol Jg= iy Db (3 Bl jSat Q" pggio b § Capy 13] 108y
DI

. That kind of door is, for you, the prototype of all doors.
.g\j_;),\ bﬁj L;-.)yuj‘ d.,o;}”}(b gl wb cdolio dj?' E>)gll3 L§JJ‘ cgl..«ﬂ OR &yJ‘ RV

. But not everybody is likely to have the same prototype for a particular set.
sl OR 8o A.CW L”;-.S}oJJ\ d.,og)’\ goe- @JJ RS Lﬁw GIL) & L)ﬁ

. Given the category label furniture, we are quick to recognize chair as a better example t
han bench or stool
aiodl ol ((BLadll anis) Joglall dadall po AST Caslio JUS (ole (g, Lind) Flew 8 ilen ¢"BT" pggie Slie
(¥l dade) aelyd of yebo p& o I

. Given clothing, people recognize shirt quicker than shoes
ALl Al s lan SST (ared &S samind Ll U 483 Of ¢ uodle pggie Mie

<. Given vegetable, they accept carrot before potato or tomato.
-(le.@.bj“ wblb'.’ L,L.A'a'.’ lMJ:\ST‘)‘}D" L_,L,A'a:’ Aé mlé & l"'é L’)“_ ‘)‘ o . m%

o Ul
It can be defined as the gradual mental representation of meaning or categorization.
what is it?Prototype.
HHH
Among the following four kinds of tea, which one is considered the most typical of the
whole set?
Strawberry tea.
Morrocan tea.
White tea.
Red tea.
Red tea

(0) Brilons dylgs
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(1) Erolons
Reference
Sl of A>YI of &=yl

Referring Expression
(azedl ) ol 9 8)Lay1) DY paas

A referring expression is a noun phrase, that is used in an utterance and is linked to somethi

ng outside language, some living or dead or imaginary entity. That ‘something’ is the
referent.

O350 48 5 il 10 cdalll s Lo s g Jaspg UsB @ pusind duawl Bilue 98 gz ] B)LaYI 5T VY s
2oyl dde 3l e adl 3 Sseis BLS 0555 o ol e 9l Ll

A referring expression is not a referent; the phrase a banana can be a referring expression
but it is not a banana.

g0 L) diS) azmpe ) D] jrand 0555 O Saw "8390" Byluadl clazmyo uadd azmye ) ALY s

“Washington has three syllables, and 600,000 people.”
Aol ()T T+ g didad) abolae D L) laiil

The existence of a referring expression does not guarantee the existence of a referent in
the physical-social world.

(Sl ol Wl § azye 3929 8)9 palb (s Y azmye ] U] uad 59229
We can easily use language to create expressions with fictitious referents such as
e Alyia Oy Sl 3l Jof (oo A4 plotisis] U gguny LiSay
» the skyscrapers of Alahssa,slusY! G bl Ol=bl
> the river of Riyadh, oLyl § ¢!

» the present King of the USA.&S5,e91 8asxiall b gl (3 Jlod! el
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Primary referring expressions
&I 99! gl dsluid VY1 ol s

like a dog, your friend, George Adams, the flowers in that basket;
(they refer directly to their referents).
cald! els @ JgJ}” c}nbc‘ G)}? cél.a:_).bgo “.:AS d.Lo
emall J185ke 0955 s ALY 5f 5,

Secondary referring expressions
& JJ AW gl sl

like he, the big ones, ours, that one.
.J.>|5J\ &l 4&9@3? ba> ¢ S (9D Jio

These expressions are headed by pronouns and they refer indirectly; their referents can
only be determined from primary referring expressions in the context in which
they are used.

Ll Ol Olazye o e JKaw 5439 (a2 edHead il 0550) silesall Ll soladdl oda
A puseind Al Blud! § Ao ALY Wilpad UM o0 add Loy oy Ol Ses AW
Hi#

Which among these sentences involves a secondary referring expression?

That one is pale
Referents differ from one another in 3 ways:
1yl A 339 53V e e S Al
Slazyall gy Caliss 3 3yl

Unique like Lake Ontario versus N'on-unique like a lake;

B ke ¢(8,51) Byl pe duazpell blie (§ gnylgl Bame i 1(A0ym0ll) Busyall duaz ol

Concrete, such as an orange, versus Abstract, an idea;

B, Jio 83yl alie (3 WSy Jio tus galal] dus geueal] BuZuzeidll

Countable like a bottle, several bottles
Bade QLS «diid 1 Jie ca9dae

versus Non-countable like milk.
%19- JJ.A 5.3_9.)..&@ )U‘ JAL&A
HitH

The referring expression "a lake" is considered: a non-unique referent.

s 235701 53 30 35
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First, Unique and non-unique referents

((ByS1) Byl pg (Ahnodl AB5mall) Byl ilimzyall Yo

a) We swam in Lake Ontario.
33)\1.33\ [y L} b

b) We swam in a lake.
SM(;;W

Both of the underlined noun phrases are referring expressions. They might have the same r
eferent, but a lake can refer to various bodies of water whereas Lake Ontario always refers
to the same body of water.

Ol p cqampall puidd 243 glaly .azya) Alo] wilniasa lake) ) sLake Ontario) ) dwewdl chluall oo 36
{3l el yuidd péw LdlaLake ontario) ) cns (3 dékise 45l wixbawne ) o Of Seva lake) )

Fixed reference Lake Ontario, Japan, Barak Obama, the Philippine Islands
kel y32 cobigh 2L 0L ¢g3)li gl 8z 1 ke cculid] azmpall

Variable reference that dog, my uncle, several people, a lake, the results.
@M‘ 13E 3] cu.uw\ o Jodall (P cg._,\.&.” Gl oo 8 paviadl QL{.:}ﬁJ\
Hitt

The referring expression "my uncle" is considered:
non-unique referent

Bacld iz
unique s e3YFixed J!
unique JVariable J!
Fixed Reference - Inference
IVl = Culdl a gl

dYaYlinference
For example, in a restaurant,

cpalaoll 3 el Juneo e

one waiter can ask another, Where’s the cucumber salad sitting?
¢l dalw gmEs L)fi <J.>T d‘}w eVadl usY USA.:

and receive the reply, He’s sitting by the window.
BIBLII 813 loeay s 4] el gl dslig
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You might ask someone, Can | look at your Chomsky?

Sl (ol Sawo gl e 8,23 AT 0 J Uo el Ul cliSey

And get the response, Sure, it’s on the shelf over there.
i Bl e il cadally cehumad

These examples make it clear that we can use names associated with things (salad) to refer
to people, and use names of people (Chomsky) to refer to things.

el gl ¢l J) 8yLla dlaludl o sLaNb dagdye Uelawl plusuinl W oSy 451 auplgll (o o Al oda

An inference is additional information to connect between what is said and what must
be meant.

yaiiall 5 055 Of 5k o (9 Ui Lo g o) 260 s ghas 5 Sz

HiH
= A waiter at a restaurant asked: "where’s the cucumber salad sitting?", "The cucumber sa

lad" in this utterance is best interpreted as: A customer
HHH

= A waiter at a restaurant said: "The tuna sandwich left without paying.", "The tuna sandw
ich" in this utterance is best interpreted as: A customer
HHH

= It is understood as using names associated with things to refer to people. What is it?
Inference.

Second, Concrete and abstract referents
(Blzmadl & guuseadl) wgalelly B33madl Colimsr podt (LSG
Words such as dog, door, leaf, stone denote concrete objects, which can be seen
or touched;

Lgeunad 9 g8y oSeu cduw guusmn LSS ] 4l o ¢yt @9 b S 1 fio oS

the objects denoted by words like idea, problem, reason, knowledge are abstract; they can
not be perceived directly through the senses.
sLei] of lSE Lgde 3las 438, a0)) ! (ASCi]) 8,51 Jio $ladSIL Led] Hlad &) el of colssll
(o992l sl Sl oSe Y (&1 (29 B30

Words occur in different utterances may have different effects on other words. Consider

these contrasts:
Ol ddy Lo dalisee OlB L 0950 0f oS dalises JIg8T 3 i &l ol
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b the key to the front door LIl ©W Zliasl!
¥ the key to successg =il Flide
b abright lightabls s g
b abright futuregbole Jxdiuwe
key and bright have literal meanings when they occur in concrete contexts and
G5l dus guneo Bl § s Ladic 4dy> lan g oMlel abolusg s

figurative meanings in abstract contexts.
B3y WBlw (§ Giud Ledie sy Olae Ly

"My dad taught me that the key to success ..
dmiply p8 Jlgead! duty
a concrete referent
a literal key
an abstract referent
a non figurative referent

abstract (» LaKey Jl zolg gale Jing Key azypall e (2 Jlsadl (S9=b O udly
dunly 40§ b..b.hw oo geke g% o B3y0 5,58 Ly CUJLoJ\ ccla.lﬂ zliae
0953 LY p3|Literal gyl Llass J5-55 Y9 cFigurative dsiey (955 83,xall 5,509
an abstract referent

Third, Countable and non-countable referents
Bagunall pfg Bagiaed! Cilias el :EIG

Noun phrases in English are either countable or non-countable.
Bagdaa A& 9l B3gdan 0555 OF Lo Aol Aalll (§ drowsdl ol

Both countable and non-countable noun phrases may be concrete or abstract.
B3yx0 91 dwgunmee 9SG UB Bagdall L9 B3 guandl sl Syl po S

Concrete countable expressions refer to items that are separate from one another, like
apples, coins, pens and toothbrushes, which can ordinarily be counted one by one.
19 ¢ O] Ulyd9 cﬁ)&ﬁi cdidae Odee 7 laS Jie flgpan (1o duadio polial il duwguseall 83 9dmall &l puadd|
Balg ol Buslg (aub S bae o Seo (&

Abstract countable phrases have such nouns as idea, problem, suggestion.
d> (Al céjﬁ ‘Jie £ losol Lg) 83 2all Bagdanll lyluadl
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Non-countable referents
83gdan]l pe Claswoll

Non-countable phrases, if their references are concrete, have 3 kinds of reference:
181931 Y g O € o guumn Lgazyo O O) Bagdaall s ilylunll

= Some refer to continuous substances, such as apple sauce, ink, mud and toothpaste, w
hich do not consist of natural discrete parts.

Ll sl (0 098I Y (g L0UdI Ogmmn conball sl el dualio Jie cdliolgio slge ] pdin gaans
.d.lw. a4

Others name substances that consist of numerous particles not worth counting, like sand
and rice.

IV eyl i dade o 85 Y 5438 @3 of Olasws o 0955 &1 (5,31 3l gl slawely

A few non-countables are like furniture, jewelry, luggage, collections whose parts have
quite different names.

Jlolos dalizen slowl l.g) 9|J.‘>T OR uj.ib C)LC}Q.?:A Uﬂ ¢y cﬁb};ﬂ By Jio c39dan _pall OR Judal!

Abstract non-countables such as advice, information, beauty, are treated in the English la
nguage as indivisible.
dbld ne l.gj e syl dalll (§ gao Joladl R fdlaz cdoglan cduad 1Jin B0 ymall logdan sl

Hi#

» anapple, a coin, a pen, a toothbrush
» some apples, some coins, some pens, some toothbrushes
» some apple sauce, some mud, some ink, some toothpaste

Hi#

The singular countable noun phrase must have an overt specifier; the plural countable an
d non-countable may have a zero specifier; the specifier some can be replaced by zero in t
he last two lines above.

B e pouiy Y U8 dgdaall a9 dgdanll zaxl fisz,o T.a.é:yo ool O s Bagdanl 83 y20)! daowd] 8Ll
o gall fcaupgsome - cpdolud! o ylad) Lg WS cCiuogall e Sy 2293 A9

Certain animals are named in countable phrases but when considered as food the names
appear in non-countable phrases.

Bogdan e WhleaS gae Jolaill @y plabs Wyylae! die (S 839uaaS lgan Jolardl @iy Bodoes ililgu
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a) chicken, (a) lobster, (a) turkey)
L}'ﬁ.}'” bl Gadl Ol ccl:;-g

In contrast, there are animal names of
oo slousl WWlia 06 Gl Jog

Anglo-Saxon origin such as cow, calf, pig

all countable nouns—matched by food names of Norman
Oloygill wie plaall slowwls clad)l Bagdas slawl pixs (g

French origin: beef, veal, pork,
(s o) g o Jzme o) Jasd (6ot 02d)) Lo 1ndyd Jguol (30 plalall
which are non-countable.sagdae aé yisd g

Some nouns name substances when they occur in non-countable phrases and in countable
phrases designate items originally made from those substances.
de guanll_poliadl s 83gdan)l Whladl 39 Bagdan aé Ohle 3§ g L dlgall duss slawdl (any
TSl el oo Shiol

» glass, iron, paper,
» aglass, aniron, a paper

What is regarded as a substance, so non-countable, may appear in a countable phrase to in
dicate a certain quantity or type of the substance.

Bkl €439 dueS Jodt) Bogdan Byle (§ yelas U8 gdme e 0950 JWhg Bole i o

» a coffee
» various soups
» several cheeses

HHH

A5l sdo LM
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At the end countable/non-countable discussion,
They are nouns that name collections of items—
eladl e Ole gamo (D Wldgdaadl As g Ol 9ol

furniture, jewelry, luggage—which are always non-countable.
83g9d=e A& uﬁ L3l ¢daiadl cﬂ\}?_d‘ «BY)

The specific items included in these collections are indicated by countable nouns—
83 9d=n e losols L) Hlaw (aaioi Rlg> cCAbT) Ole gozall G poud 839390 diumn _polic

chair, bed; necklace, ring; trunk, suitcase.
2w dad> c@bl:a) Okl qwb- BB (4 c@»)s

In other instances there are matching nouns:
rdilae slowl el 5,31 Y 3

rain and raindrop, snow and snowflake.

Tl A8 g gl £ pae Byladg Hlae

There are a few nouns which occur only as plurals:
rrex Yl 0555 Y &l A3 elowl el

Scissors, tweezers; trousers, shorts, jeans, etc.
e > cOlaed ‘Lj‘jj‘*‘ c.b..gé}h cua.ﬁ.n

HHH

A9 Jlgeo lgie cuzo oSen ASIL A8l (g
555 Wlig o gtll s Layh A

HHH

Scissors, tweezers; trousers, shorts, jeans are examples of nouns that: occur only as a plural

duwsdlud! 8 poloeall dolgd
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(V) 8ol
DeixissyLa! of ¢ &bl of (&5yLay!

Deixis
5)\.«"1:}’\3? il of Byl
Very common words in our language that can’t be interpreted at all if we don’t know the
physical context of the speaker.

doal] galadl Blewd! yas S5 @ O] Tl s (Son Y (1 Lisd (3 dS e LS 2

These are words such as
e oo OlelSl i

© here and there,2lag Ly
5 this or that,gI39 lia
% now and then,d= L oi oIl
¢ yesterday, today or tomorrow, 4 gf cp gl ¢ yuel

as well as pronouns such as
Jio o0 loall WIS

you, me, she, him, it, them.
P..Q 4d.§w|_;}’.]5_® cdJ cU{b cbi 4wi

Some sentences of English are virtually impossible to understand if we don’t know who is
speaking, about whom, where and when.

T g0 nly ety (o 59 chidiall 98 e Byad o O] el e Ladly Jeowind Lpdomd (§ Joordl Gy

You’ll have to bring it back tomorrow because she isn’t here today.
2901 U ) @Y T oo Of e

Out of context, this sentence is really vague.
Bl ) LIS O] daple 995 dlazdl i

)i.e. that the delivery driver will have to return on February 15 to Building 7 with the large
Play Station box addressed to Khalid Ali).

e W ] o)l (ot SO iy V igliy 1) 10 yabd § B39l dde Jowo g2l 33l 0 3mns

tomorrow and here are obvious examples of bits of language that we can only understand

in terms of the speaker’s intended meaning.
Ediall sdsaiy Gl (axadl e 2lo gagd LSy U1 (&)l Al ld e dpolg dliol (o "La" g "Tue”
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They are technically known as deictic expressions, from the Greek word deixis, which
means “pointing” via language.
Al el bl g3 (3,2l e daiswsDeixis daly (dpslll Olaadl Byailad »

to:
:dl ByLaWDeixis) JI) wlaslll adsiud

things (it, this, these boxes) and people (him, them, those students),
sometimes called personal deixis.

o wldlg csLLENI
it, this, these boxes s pusuiud sLal
him, them, those students s pdsviud (sl S,

personal deixis. duasidl lpalbll lgde 3las Blat el palll oday

HiH
Words and phrases used to point to a location (here, there, near that) are examples of
spatial deixis,
here, there, near that : Jis 28lsell 1all) ausuud o wlpslill e Jlag S,

wz w

(B> o) Ao wilpali 1 oud odag

and those used to point to a time (now, then, last week)

now, then, last week :8sl ailil) puscd olpaldlodag S,
are examples of temporal deixis.&leyl Olaaldl s odng

All these deictic expressions have to be interpreted in terms of which person, place or time

the speaker has in mind.
Sasiall 523 (§ G alodl 9T O8I 9T aseidl w1 puads @iy O Gz Ayl Ol 0o (S

We make a broad distinction between
e DS Tlad mouas L)

what is marked as close to the speaker (this, here, now)
this, here, Now :Jie cédsviall cuyd & e 4] Hlao b

and what is distant (that, there, then).
that, there, then :Jis cdux 92 log

We can also indicate whether movement is away
duadl) &Syl OB 13] Lo oo Ll LSy
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from the speaker’s location (go)
g0 e f&usiall 8L (40

or toward the speaker’s location (come).
come 4ol plasuiwl Jio codsiall xBge ] pold & of

If you’re looking for someone and she appears, moving toward you, you can say Here she
comesl!.
Here she comes! :cd P b Jss Ol eliSas Hlg=ib (el (B9 Blyol Cygls> 0

If, however, she is moving away from you in the distance, you’re more likely to say There
she goesl!.
There she goes! :cadi ala (Jgis ol eliSes lie Suaice BLAJ‘ Cdin s Ol

The same deictic effect explains the different situations in which you would tell someone to
Go to bed versus Come to bed.
GL ol eaball dl ey 0 G e Liasis 155 O hdls- e iy ()1 dadisall aBl5all s Sl I
Al J)

People can actually use deixis to have some fun. The coffee-shop owner who puts up a big s
ign that reads Free Coffee Tomorrow (to get you to return to the coffee-shop) can always cl
aim that you are just one day too early for the free drink.

GBS Aoy i I (Riall b daall i (e Jguasl] palill e Of pgadly 3 (bl Se
dilonadl 898l poa OF (s O Ledls Sy ¢RI J] B39al) ladad "Tue dilons B9gd" Lgud 1,83 O el WliSey

One basic way of referring to something is to point to it. Every language has deictic words w
hich ‘point’ to ‘things’ in the physical-social context of the speaker and addressee.
sbadl JI 8la pusitnd Lyl Ol L 4 S 4] sl e 9o Lo s (g J] 5La duslud)l @ phall d
(b lally Guovel) Galadl (slaizdl Bl

For example, if we should encounter a written or recorded message like:

e Monaune 51 by L ligrly O] cdliadl Jos Ao

| was disappointed that you didn’t come this afternoon.
B pgla)l 0dd legdd pua bl cols

| hope you’ll join us tomorrow.
Jae Uyl e of g2l

we wouldn’t be able to identify the referents of |, you, us, this afternoon or tomorrow; The
meaning of any deictic elements can only be interpreted through their contexts.
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|, you, this afternoon, tomorrow J cslazpell dodss LiSes ¢y
@Bl pe Jadd iy Of oSer dopsls_molic ST g

Only one sentence among the following has a spatial deixis, which one:
You can’t stay here.
Hit
English deictic words include
LY pblldl lels
(V)Personal diexis |, you and we, which ‘point’ to the participants in any speech; he, she, it
and they, when used to refer to others in the environment;

|, you and we :Jie duasead! ol pill

Sl gl @ onSiieell as5 Gl
he, she, it and they Ly
Aagall Ludl o (05391 U 5)LaW pisuiud odayg

HH#

(Y)Spatial deixis spatial deixis here and there, which designate space close to the speaker o
r farther away; this/these and that/those, which indicate entities close to or removed from
the speaker;

here and there :Jiods8all el pill
e Laa.,b.ggi Gdoial) d>luall 1y U LﬂgJ\g

= <

Lasly

-

this/these and that/those
diell e dgian 9 duyd OULSI B O) b ) pusaiud (@l

HitH
(Y)and temporal deixis: now, then, yesterday, today, tomorrow, last week, next month, etc.
all relative to the time.

ALl sty
now, then, yesterday, today, tomorrow, last week, next month :Jie

2 glb Aadye 0555 gy

HHH
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Only one sentence among the following has a temporal deixis. Which one is it?
I’'m busy now.

Words which can be deictic are not always so.
0953 Y U ol dyylia] 19SS LB lelS

Today and tomorrow

They are deictic in “We can’t go today, but tomorrow will be fine.”

They are not deictic in “Today’s costly apartment buildings may be tomorrow’s slums.”
Today’s costly apartment buildings may be tomorrow’s slums.”“ :dte (§ ¢rioylis] Olpiad Y lagiS

Similarly, here and there
here and there JiJby

They are deictic in “James hasn’t been here yet. Is he there with you?”

“James hasn’t been here yet. Is he there with you?”
They are not deictic in “The children were running here and there.”

The children were running here and there.”” :Jtw § Oboyls) Olwas Vg
The pronoun you

Is not deictic when used with the meaning ‘one; any person or persons,” as in “You can lead
a horse to water but you can’t make him drink.”

il (§ Il Jie ¢ polsal Bie gl dsly paseds gaas pldsuiul die )Lé] iz Yyou el
“You can lead a horse to water but you can’t make him drink.”

AnaphoragaSgd! 1S3
We usually make a distinction between introducing new referents (a puppy) and referring
back to them (the puppy, it).

392 puppy) ) 8,558 1,555 8,0 JsYpuppy 95> 4alS ;505 Ledie Mo B iliazyo 02485 o Bl jued
it))s 4 i githe puppy) ) 48,2eS 8,555 43l d) il OF 3w (Sl (g Eodadl 3925 Losie U1 Blows
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Jbe
We saw a funny YouTube video about a boy washing a puppy in a small bath.

The puppy started struggling and shaking and the boy got really wet.

When he let go, it jumped out of the bath and ran away.
In this type of referential relationship, the second referring expression is an example of ana
phora (“referring back”).

(denzyodl B)LAY) (S Sel HLSHI e Jlie 92 JU1 (Sl peat)) dunzryodl BN 0 £l 102 (3

The first mention is called the antecedent.
bl 91 3ol sl 483 gl e 3llasg

So, in our example, a boy, a puppy and a small bath are antecedents
Al o1 B2l lgie BU>9 S e (3lkia small bath sa puppy sa boy :Ults (3

and The puppy, the boy, he, it and the bath are anaphoric expressions.

2 51,S5 Wl lgde 3llaithe bath it she sthe boy sThe puppy 9
AnaphoragaSgd! 1y
Anaphora can be defined as subsequent reference to an already introduced entity.
Mad dayias o 0L da>Y 8yla) &b (JQJLU\JJKAH) PreIsY] oyl (g

Mostly we use anaphora in texts to maintain reference.

Azl Je Blasl) Sl e pogmaill § Jaalll S pasuns CJBI 3

The connection between an antecedent and an anaphoric expression is created by use of a
pronoun (it), or a phrase with the plus the antecedent noun (the puppy), or another noun t
hat is related to the antecedent in some way (The little dog ran out of the room).

ol L) Blis B)les plusi psit ol pliscinl s dzrd Jadlll LS el g Golaad! OLSI o2 Lol
The little dog ) 1 s de dislas 3Ll OLSIL Jaiye 5T ual pliseial 1 ithe puppy Jie el OLSUI
ran out of the room).

= What among the following is a subsequent reference to an already introduced entity?

Anaphora
HitH

» It can be defined as subsequent reference to an already introduced entity:
Anaphora

V 8 polonall dolgs
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(A) Bpolne
collocation ddaall cileydMiel!

Collocation is words tend to occur with other words.
3 Dl g a0V e el (2 dudaalll clojHiall

P g gall da e Hlas § col> I diwd)
- is words tend to occur with other words.
Collocation
HiH
= Collocation is words tend to occur with
other words

Collocation examples:

blond + hair.

Fast car not quick car!
Fast food not quick food
Quick glance not fast glance.
Quick meal not fast meal.

Hitt
8| -9
= All these examples represent correct collocation except for:
a quick car

(S A Jto &l o 1355 L 3o Jlia Ll

blond + hair.

Fast car not quick car!
Fast food not quick food
Quick glance not fast glance.
Quick meal not fast meal.

: JIge
What was Firth refering to by saying "You shall know a word by the company it keeps"?
Collocation
HiH
Lsls Lo 36 (1 lodSU g3lady IS (30 AalSl A yms e 1apd i
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Certain words tend to appear together or “keep company”, this keeping company is what is
called in semantics “collocation”.

Aaalll Gleydliedl bgalll @ leade (3l 3814l oo (a8 Laily gl das ygelall Jied Bodome wlelS

HitH
Certain words tend to appear together or “keep company”,
this keeping company is what is called in semantics
“collocation”

A collocation is a pair or group of words that are often used together.
Lo Bale pdseiud OlelS de gaze ol z9) (P ddadlll Oleydil

HHH
is a pair or group of words that are often used together.
A collocation
Hit
A collocation is a pair or group of words that are often used
together
Hit
It is defined as "a pair or group of words that are often used together, such as, take
a picture" what is it?
Collocation
HHH

Collocatoin combinations sound natural to native speakers.
21 43S LilasYb opddociall dis Adgpmn ytiad A2l leyMiall ol gazmo

Hi#
Al
Collocatoin combinations sound natural to . native speakers
HitH
Fixed collocation, like: [ take a photo ]

Byge0 .J..>;L3 e Al ddaalll Ol

no word other than take collocates with photo to give the same meaning.
(el s (8055 O (Sestake photo Jie cxeeidhie (wialS dzgs Y

Hit#

entsab.com $D@AGannat2060 @b : M RED@AbuAl7arith @Mﬂ‘gm}f&",wé)bﬁ‘ﬁn\&‘ﬁ xR E}@



https://twitter.com/AbuAl7arith
https://twitter.com/AGannat2060
http://www.entsab.com/vb/

Some collocations are more open, where several different words may be used to give a simi
lar meaning, for example [ keep to/ stick to the rules].
e Je dgalate Olas sloY puseind OF dakizes Wl (Soy lgad (g d-liasl ST dudad) ilajdio g

:JGaJI
keep to/ stick to the rules]. ]
Gl s QLS eyl M

Hitt
: S s
keep to/ stick to the rules] are example of: ]
Open collocates.

examples:

=You must make an effort and study for your exams.
make an effort .9 do an effort

=Did you watch TV last night?
watch TV _«Jslook at TV

=This car has a very powerful engine.
powerful engine _«dJ9 strong engine

All these examples represent correct collocation, except:
Fast meal

Lisls 16,83 Lo Jio diwad)l (po £l 10 o
2,83 aar I lopdliall Jadoes elaSs

o Jlgw
All these eamples represent correct collocations except for:
a quick car

Hit
Sometimes, a pair of words may not be absolutely wrong, and people will understand what
is meant, but it may not be the natural, normal collocation.

[ 1did a few mistakes ] vs. [ | made a few mistakes ].

pinid € gaids A& 9o diS) (din dgsaiall gals Ogagiy Il OY dolas las i Y Gl z9) Bl
Adas) oloyMie
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e
| did a few mistakes ] vs. [ | made a few mistakes ]. ]

Hit
All the following collocations are incorrectly written except for:
Did you look at TV last night?
Burgers and French fries are common fast meals.
You must do an effort to study for the exam.
You made a few mistakes.

Why learn collocations?
dndaalll CiloyMied! ol e 13Le)

Give you the most natural way to say something
2Nl Jg) dadall diylall elidaas 1Y

»  ]Smoking is strictly forbidden ] is more natural than [ Smoking is strongly forbidden ].

»  Give you alternative ways of saying something, which may be more expressive or more
precise

2 STy Tead ST 0955 48 (gl clo st Jsa) Al Gyl clylasd

» instead of repeating [ It was very cold and very dark ], we can say [ It was bitterly cold
and pitch dark ] .

» Improve your style in writing
LS § ehlul gk

instead of saying [ poverty causes crime ], you can say [ poverty breeds crime | ;
instead of saying [ a big meal ] you can say [ a substantial meal ].
Hit
Collocation)! il (8,5 O 4551 (o 3 (5 2]
»  Smoking is strictly forbidden
» It was bitterly cold and pitch dark
» poverty breeds crime
» asubstantial meal
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Finding Collocations

:ddasall doydiedl LBLaas|
You can train yourself to notice them whenever you read or listen to anything in English.

Aol GBL £ g Y Cariowl 9T )8 LS ddaalll clayDliedl GBLAIS e ks oy EliSlay
) ‘Jbe
Cathy had promised to give her sister a call as soon as she got home but she decided to run
herself a bath first. She had a sharp pain in her side and hoped that a hot bath might ease
the pain.

Hit
Any good learner’s dictionary. For example, sharp
e Jw e i @dad (ugelB ST oo ddaalll loydiall CBlasS! i
sharp

> asharp pain..,s> i
> asharp bend/turn...5sl> dbg=s ol ol Calanio
» asharp difference/distinction..,sl> 3,5 >l>
» asharp increase/drop.sl> b g csl> ¢las)|

Learning collocations is not so different from learning any vocabulary item.
Bayho (Sl ehal 6 5S Calisey N ddaalll Cilo)Miad! odal

There are many different types of collocations.
Audaalll OlejMiedl oo dalises £1gl clla

Adjectives and nounsslewdly Olasall
Notice adjectives that are typically used with particular nouns.
zb.ym C-LA.UU“ e dale ‘bw Lé'\.\\ Ol Ly

Jean always wears bright color.
We had a brief chat about the exams.
Unemployment is a major problem for the government at the moment.

Nouns and verbsJ=3Yg slowd!

The examples below are all to do with economics and business.
JlaeYL sLaiBYl BBMe (ye i g oLl Asadl

»  The economy boomed in the 1990s, [the economy was very strong].
»  The company has grown and now employs 50 more people than last year.
»  The company has expanded and now has branches in most major cities.
»  The two companies merged in 2003 and now form one very large corporation.
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Noun + noun (a... of...)

»  Sam read the lies about him, he felt a surge of anger, [literary: a sudden angry feeling].
»  Every parent feels a sense of pride when their child does well or wins something.

Hit
Verbs and expressions with prepositions.

» I was filled with horror when | read the newspaper report of the explosion.
»  When she spilt juice on her new skirt the little girl burst into tears, [suddenly started
crying).

HHH
Verbs and adverbscdglallg Jlad¥
Some verbs have particular adverbs which regularly collocate with them.

LeaiM L Bale Lig,bs o) JdYl o

»  She pulled steadily on the rope and helped him to safety, [pulled firmly and evenly)
» He placed the beautiful vase gently on the window shelf.
» ‘I love you and want to marry you,” Derek whispered softly to Marsha.

»  She smiled proudly as she looked at the photos of. her new grandson.
Hitt
Adverbs and adjectives.laally (g Ll

»  They are_happily married.
» | am fully aware that there are serious problems. [I know well]
»  Harry was blissfully unaware that he was in danger.[Harry had no idea at all, often
Used about something unpleasant]
Hi
Synonyms and confusable words.d5 yell &ilelSIlg cildal Aol
Words meaning ‘old’.
old 248 (s db 2N

» I met an old friend the other day. It’s a very old building.
»  She studied ancient history. In ancient times, life was very hard.
»  This shop sells antique furniture. She collects antique jewelry, [old and valuable].

» | helped an elderly person who was trying to cross the road [elderly is more polite
than old]
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synonyms
ddad) CiloyMieS du Sy Bl fe a‘aji

» charge vs. load
» injure vs. damage
»  grow vs. raise

HHH

» I need to charge my phone. [used for electrical items]
» They loaded the van/truck and drove away.
» Three injured people were taken to hospital.
»  The shop tried to sell me a damaged sofa.
» In the south the farmers grow crops.
» Inthe north the farmers mostly raise cattle

A 8 polxall dolgd
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(4) rolxe
Presupposition 2! A3

When we use a referring expression like this, he or Shakespeare, we usually assume
that our listeners can recognize which referent is intended.
JI 23] egiSes bpmains b (2,85 e ole L3 cthis, he or Shakespeare)) Jio 8)La) lad adsviud ladie
A iy oduads (S| poye

In a more general way, we design our linguistic messages on the basis of large-scale assump
tions about what our listeners already know.

L) cpmaiacall d8yms Lo Jgo Blasll dawsly Lol 81 ol (Je Drgalll bbby masal Wl cdrogac AST ddsylay

Some of these assumptions may be mistaken, of course, but mostly they’re appropriate.
Wgie 1955 Lale oS ol dagday dibols 9S543 LB ods ans

What a speaker assumes is true or known by a listener can be described as
a presupposition.

2L dde gllas U9y aaiuanall OF 91 rasse 4l odseiall (o Ay Lo

If someone tells you [ Your brother is waiting outside |,
NI L JE NS PE B WA R

there is an obvious presupposition that you have a brother.
Febud 4l zuply (o1l Alla OF aud 8)laall 0d

If you are asked [ Why did you arrive late? ],
Tyl cduog 13 redlu 0

there is a presupposition that you did arrive late.
Tslie cduog bl (ol 8l 2l

And if you are asked the question [ When did you stop smoking? ],
Sl e b e tdlgdl el 0lg

there are at least two presuppositions involved.

Jlad! e lagiasats calaizee (sl A8l il olo

In asking this question, the speaker presupposes that you used to smoke and that you
no longer do so.
OV 305 A o) @iy (ol e el Gl o Al Giasiadl O (Jlgud! e pc
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Questions like this, with built-in presuppositions, are very useful devices for trial lawyers.
If the defendant is asked by the district attorney,

S B (o egiedl S O] @Sloall ¢pralonad Busie Sl (4 o (@ ©ULABYI ze dldd Jio Jlgan
L)

]Okay, Mr. Buckingham, how fast were you going when you ran the red light? ],
Celyomd! yLal cudass e clic w CA)SVSc\nL@:.& NVOPICUNES

there is a presupposition that Mr. Buckingham did in fact run the red light. If he simply ans
wers the How fast part of the question, by
giving a speed, he is behaving as if the presupposition is correct.

3983 OF @ "depdl (5" &35 Jlgen Sad QT O cslpasndl H)LaYI Db Jass plgauss deud) 0L (51761 el
Zuso 1AV 08y B ais 5 Aol 0dgud fde udl sllac) pe ol

One of the TESTS used to check for the presuppositions underlying sentences involves nega

ting a sentence with a particular presupposition and checking if the presupposition remains
true.

WSy cyme (2L0L Aoz (5 cpasais (&) Jazdl £)g Dol Lo Y o Bl pdsuind (2l hlasl u
oo i e 2LV OB O] (e

Whether you say [ My car is a wreck ] or the negative version [ My car is not a wreck ], the u
nderlying presupposition (I have a car)

remains true despite the fact that the two sentences have opposite meanings.
i "Byls U BT 01 (1Y " pllas ) 3ol © Ldiodl Al gl "ollas (3 yle’ 1B O elgund
553 slas lias lag) ezl O 00 da> e Lol jas busue

This is called the “constancy under negation” test for identifying a presupposition.
If someone says, | used to regret marrying him,

but | don’t regret marrying him now, the presupposition (I married him) remains
constant even though the verb regret changes from affirmative to negative

P (3o BE (po " Al o LI s Al sl s 3y

i 935" b8l 4 e g3l e Aol d (50 et gl s Aasl 05T O wsel 1gpust B o)
(B AL OV e pidl Jad 135 (00 &)l e Tl
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e a3 M OLLAYI e i JLud Jglo-g W31 €5 wioloeadl dlgis BygSde el (g

What is one obvious presupposition of a speaker who says:
a) Your clock isn’t working.
b) Where did he find the money?
c) We regret buying that car.
d) The king of France is bald.

The following sentences make certain presuppositions. What are they?
a) The police ordered the minors to stop smoking.
b) That her pet turtle ran away made Emily very sad.
c) Even Fred passed.
d) Disa wants more popcorn.
e) Jill went into a nearby house.
HHH

Y

What a speaker assumes is true or known by a listener can be described as a:
Presupposition

HiH
What is one obvious presupposition of a speaker who says: "Your sister is waiting outside"?
That you have a sister.
HHH
What is one obvious presupposition of a speaker who says: "Your brother is waiting
outside"?
That you have a brother.
HHH
What is one obvious presupposition of a speaker who says: "l regret talking to Tom"?
That he talked to Tom.

HiH
What is one obvious presupposition of a speaker who says:
"Majed renewed his subscription to sport magazine"?
That his subscription has expired.

HiH
What is one obvious presupposition of a speaker who says: "We regret buying that car."?
That they bought that car.

Q5 ool dilgs
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()+) Bplme
Speech ActsJ gl Jladi

There are different kinds of context:
OBl £lgif Bac clla

HiH
19 «bld! #lgsl (e cne b e @5 )

> Linguistic contexts gl @bl
> Physical context$aled! @bl

.\Linguistic context (i.e., co-text).
el yaid! 1 aes 59l Gl
The linguistic context of a word is the set of other words used in the same phrase or
sentence.

ozl o1 8)ladl (S (§ dedstinad! 5,3V LIl A gazma (2 o daS) (593l Bl

The surrounding co-text has a strong effect on what we think the word probably means.
A Glas Yl e Wil ddtas b e 598 30 4 Jarmall 2)laall paill

E.g., bank as a homonym, a single form with more than one meaning.
(2o o AST g Bualg diuo (23 ¢ Jad) st Waylacbbank 4ok Jie

Q. How do we know which meaning is intended?

o guaiall ael gale LByai LasS

A. Via linguistic context.
(S9! Bl e

» If the word bank is used in a sentence with words like steep or overgrown?

»  If we hear someone say that she has to get to the bank to withdraw some cash?
9358l am comadbank J) cads Of lgde Wl Jsiy @ous] lraw 0

»  We know from this linguistic context which type of bank is intended.
Sgadallbank I sale Gludl lie JM (1o olas L3le

HHH
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.YWe also know how to interpret words on the basis of physical context.
$oledl Blawdl 92 BLd! £1957 po 31 g9l

ol Bled! e Tolaiel Ll punds LiSasd
If we see the word BANK on the wall of a building in a city?

Taally o 3 dsbank LS LD of
The relevant context is our mental representation of those aspects.
Clgzdl oda e Tolaiel Luad (§ Jiwiy $U) 92 d8Mal 93 Bl OB
Speech acts

There are ways in which we interpret the meaning of an utterance in terms of what the spe
aker intended to convey.., to “interpret the function of” what is said?

S b "dadrg s ] cimiall dlgy O s Lo e Tolasel eI (qxe a3 LI p0 L) Sy @b Sl
¢JB

In general, we recognize the type of “action” performed by a speaker with the utterance, su
ch as “requesting,” “commanding,” “questioning” or “informing.”

Y Gl a8l ccdlall o (a1 pe odsiall olol (I Jadll g5 21,5 L3l ple St
We can define a speech act as the action performed by a speaker with an utterance.
I e Eotomiall b e (533401 Jadl 4l s J5al1 Jad sy iy
E.g: I'll be there at six = promising

WJbdl i (Lo
ae gl = dwaludl wie s gl

Direct vs. indirect speech acts
Solall gt Jsall Jad Jylio 3 bluall Jsll Jad

We usually use certain syntactic structures.
Aigma (Laelgd) g () S pdsins b sole
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Did you eat the pizza?
! ST o

Structure = Interrogative

el = (i) JSeg)

Question = Function
g = Al gl

Hit#

Eat the pizza!
Al S

Structure = Imperative

Sl = (&) S

Question = Command
ol = dads gl

HH

You ate the pizza.
Sl ESSTua)

Structure = Declarative
Sura = (4dl) Sl

Function = Statement

Tonas = dads gl

When an interrogative structure is used with the function of a question, it is described as a
direct speech act.

JJ"L‘“" dﬁ'é d*'g LG-"L’ &_04053 4l AT QP cd‘}wﬂ 21_6_:,2_9 o ‘Q‘gé’; NI ( S, 2) aw o s Lo
When we don’t know something and we ask someone for the information. Can you ride
a bicycle?

loglas e eadxT Jludg b sgh Byai Y e

Canlyl Bald Koy o
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Compare that utterance with Can you pass the salt?
Tzl ypad Sy Jo 115 w2l Jlgudl )8

Here, we are not asking a question about someone’s ability; we don’t use this structure as
a question at all. We use it to make a request.
e o) Wliadseio! s Tl J15uS (USig)l) duid! 0dd puseind of o yases 8)ud e Vg Jlud Y o= La
.ll ” |I-"

That is, we are using a syntactic structure associated with the function of a question, but in
this case with the function of a request. This is an example of an indirect speech act.
Jad il a1 ccdlall dadsg ao Alsell oda (3 LT Y] cdigund] dauds gy Uaiye Lgond Yt putsnind U316 108
Sl p Jal

Whenever one of the structures is used to perform a function other than the one listed bef
ore, the result is an indirect speech act.
Jg8 Jad Lgade 3las Aol 0d L yoSdall el p& (5,31 daudsg £loY ((2a)1) JSbeg)l dl Lol Lo 2o
ol 8
il e

The utterance You left the door open
I gxae OWI S5 el gd

has a declarative structure (=statement = direct speech act)
rolee Jg8 =8 = (Oldl) 7o el

However, if you say this to someone who has just come in and it’s really hot outside, you w
ould want that person to close the door.
il 1o (ye )3 Al 04 (3 Sl dur Hl sl (3 ganly J3-ll ] gl 3T pasedd 13 < o] «ell3 aag
S @iy of o

You are not using the imperative structure. You are using a declarative structure to make
a request.

Al Jand ponatl Sl ot Aol (&) Sl pasiid o) el b

It’s another example of an indirect speech act.
a1 J5 b e 55T Jlis Liag

It is possible to have strange effects if one person fails to recognize another person’s
indirect speech act.

3T pad o _bls st B Jad o] (3 Lo st Jad 0 st A 4 0550 of oSass
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A visitor, carrying his luggage, looking lost, stops someone
MJ.:-T a8l Wbo & gue cddla> Joso o5

A VISITOR: Excuse me. Do you know where the Al-Bilad Hotel is?
TN Bid adiy ol elad o Tgac 3131

PASSER-BY: Oh sure, | know where it is. (and walks away)
(o2er 03) o ool e BT eqally of t il ple

Here, the visitor uses (Do you know...?) a form normally associated with a question, and the
passer-by answers that question literally (I know... ).

(35> JI5S das gl O day J1ndl QT Jaaad! e g cJ15audl dilaio dapuaS "ol Jo" pasuiul i1 La
&.o.;u.ﬁ P.Lcj G Jlas

direct speech act vs. indirect speech act “request”
b Jan) 8591 Aol § OF Sl bluall st Jsdll g ¢ leall Jsll b e 39 35,3 OF Y Ligs

(29 Bpolxall (S4B (10 dSi (3T (e @IS poldll )1 (3
Speech Act Theory (Book: How to Do Things with Words)

D5l Jad Al

L sLaY Jos daS 1olS
The word acts entails doing actions.

(J23) B> Ggds Cllass el Jladl

Within a specific context, Austin (1962) states that “to say something is to do something”.

E.g., If a minster declares two people husband and wife, they are now legally together in
a way that they were not before that utterance.
Bl i LlgSH o diylas las (3936 S O Igmmmol U8 drgis Ay Of duaiSUl el O] eJUdl Jw e
A

Therefore, when someone says “I’'m sorry”, it is not only to state the fact that he or she feel
s sorry but also to carry out the speech act of apologizing.
oty Lo Jod Ul o ol ymin T o b Al o suoey Y ol 10 il ("o LT @] JB ) ol
.)‘JJ.C—)’\ d}é d.t_‘) L
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Austin distinguishes three different acts/forces in any given speech act.
J98 Jd ST 3 598 T Jadl (o 1551 M oy cransl a0

Do you have a watch?”“
Caclw ¢l Jo

The locutionary force: what is actually said; the production of the words that make up
the utterance.
Jel ol (Jl Ol Z15 (29 Slxd b Lo :duaal)l 5l

The illocutionary force: the intended meaning of the utterance (asking for the time)

(39l e 15l 1aludl JUall (3) Joa)l ehg (30 dgmahiall gnall tadaill] 2 594l

The perlocutionary force: the effect achieved by the utterance on the hearer. (the action cr
eated; the listener looking at the watch and tell the time)

aiall e Joall (e el 81 tgladl e 45 el 8 gall
C,éﬁ.” d@j cdise lw Jl)b) M\ P.J coddl d,,a.>

To interpret the intended meaning, the hearer needs to consider the social context.

St Bl 8yl Zlioms gatnal] O 3 gpaiall Ganll i)

Failing to do that may lead the hearer to take out his watch and show it to the speaker
Possibly wondering why the speaker would want to see his or her watch.

L5y Suiedl Wy 13k Wluie Grasial) s g disl zy50 OF ] peiuualls (5353 18 Uy aldll § Jicd)l
e b

The main reason we use indirect speech acts seems to be that actions such as requests, pre
sented in an indirect way (Could you open that door for me?), are generally considered to b
e more gentle or more polite in our society than direct speech acts (Open that door for me).

Wit loo o o Gl o SlasY1 5T JladYl oda 0Y g 8kl e Jodll Jadl pluscid gwlud! !
Ailae JSin 36 13] Lo Ladgis 3o AST 0955 1 08 silas e S

H(2dge) Al 2 Jg8 Jad Je Jle

Could you open that door for me?
d oWl s ol el Jo

Open that door for me

J oWl i gl
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B aoloxall B e dguds iyl Dl

HiHt
Each of the following utterances contains a speech act except for one. Which one is it?

| bet you 50 Riyals he will not show up.
I’ll meet you at 8:30 at the library.
I’m sorry | said that to you.
| work at the new bank.

HiH
If someone asks you "Can you pass the salt and paper? "While setting on the dining table,
this utterance is often interpreted as:

a request.

HH#

"Can you pass the salt and ketchup?"
Hi
Imagine that an old man stops you on street and asks you,

"Do you have a watch?" What is the illocutionary force in the scene:
The intended meaning he had.

HiH

8 ruladl 8 piolxoll dulgs
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(V1) 8ol
Politeness ddlall gl AuwlSII ccudgd!

Politeness
gl
We can think of politeness in general terms as having to do with ideas like being tactful,
modest, and nice to other people.

23 Gl ae Calallly gl gl ABLII Jio HB3T e Joladl e sl ple S codgill San biSe

In the study of linguistic politeness, the most relevant concept is “face.”

Mgl 92 4 dlo ASYI psgaall cgealll Codgl dulys

Your face, in pragmatics, is your public self-image.
Aelal A511 )y gao 9 ((DWgladl) Ales |l (§ g

This is the emotional and social sense of self that everyone has and expects everyone
else to recognize.

09391 4S5 O d>ly S gy b (@I Ol (slaaVlg (pblal gasll 9o 1o

Politeness can be defined as showing awareness and consideration of another person’s face

53 pasead! dxg) slasYlg plaiadl lgh] 4l e Codgill Casyad (Sag

If you say something that represents a threat to another person’s self-image, that is called a
face- threatening act.

A9 Jodg Jad Lo 1B ¢ yasead] U 45111 8yguall Tougs Jis luss eadsY s o)

For example, if you use a direct speech act to get someone to do something (Give me that
file!), you are behaving as if you have more social power than the other person.
2 9 <(1calall @l glach 1 o) Lo oo Jon) @] dgi) tlio Jgd Jad pusoid ciS 0] cJball Jows de
3 pasead) (e ST due o dlalw elhed ST G

If you don’t actually have that social power (e.g. you’re not a military officer or prison
warden), then you are performing a face-threatening act.
shob pod3 Al oda (§ elild ¢zl e ToaT 91 UySue Uaslis 01555 0F) Slad dlaldl el el oS5 oJ 0
Az i Jas

An indirect speech act, in the form associated with a question (Could you pass me that file?)
, removes the assumption of social power.
T oaLA8] 5 Alondl 0 (3 LB «(Saloll el J a8 OF S J) Ul Aniye Aknmy ¢ bluall pE o)l Jad
) AclorsYl Al £le3l
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You're only asking if it’s possible.
USao 05 0 1elg3 3y2x0

This makes your request less threatening to the other person’s face.

53 pasead! da gl Tougs J81 Cdlall Jazo i

Whenever you say something that lessens the possible threat to another’s face, it can be de
scribed as a faces saving act.

gl Laas Jad @3 Hlael (S 3 jasid! dog) Joiseadl dodgd! Jas o Luds 8 o 2w

Politeness is about respecting the face of others.
(g3l dzg plAxb @lany Codgdl

Positive politeness: enhancing the positive face of others.
(3 Gl dr gl 33l i sl Cadgl

3

lgidial (pa9
> giving complimentsolala)l sl
> using terms that indicate friendlinesssgll J] aéd 3l Oldlaaall plasiul
> thanking themea,Sa

Negative politeness: is respecting the negative face of others.

33N (lead! dzr gl plAa! 2 glad! gl
gkl (09

> Using markers of deference.pli=Yl cilodle alusuiul
»  Using indirect speech act to make orders or requests. 8 bell s Jgall Jladl RRES S
Sldlally yelgl sy
» apologizing. kel

HHH

We have both a negative face and a positive face.
(sdedl drglly Sl dzgll ccngarsll oo IS Ly

)Note that “negative” doesn’t mean “bad” here)

Negative face is the need to be independent and free from imposition.
028 3o Wy Siins 0550 0 )l 90 (gladl drgll
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Positive face is the need to be connected, to belong, to be a member of the group.
s gazmall o Tss 0555 OY dhaiin 0550 0Y Sliate 050 0Y Azl 52 LYl 4l

So, a face-saving act that emphasizes a person’s negative face will show concern about
imposition

IV UrYl) Lyl Lelasd] (5 Ggun gl gl dirgll s US55 31 dorgll i Jladl ol 1
(WESN

I’m sorry to bother you...; | know you’re busy, but...).)

e alel] e duel
e S eJgidne i e

A face-saving act that emphasizes a person’s positive face will show solidarity and draw atte
ntion to a common goal.
e Bug oLl cdly (el (Sus Bgu paseil) plaYl dxgll e US55 ol drgll Jad> Jladl

Let’s do this together...; You and | have the same problem, so...).)

o dogan 10D Jxd

e I (S ]l s g g U
Ideas about the appropriate language to mark politeness differ substantially from one
culture to the next.

Sy ] A8l e S Ko Caliss codgdl el sl &l o HEEYI

If you have grown up in a culture that has directness as a valued way of showing solidarity,
robaill 5lebY dasd dhg (2 8kl O ias B85 § s <8 O]

and you use direct speech acts (Give me that chair!) to people whose culture is more orient
ed to indirectness and avoiding direct imposition, then you will be considered impolite.
| 1IV9 padl iy B leal) puad o 0gidlES (olsesd ((oySUl ell3 alacl) Jio blaa Jgd Jad ool
(odge b Shlael oty B g U € bl

You, in turn, may think of the others as vague and unsure of whether they really want some
thing or are just asking about it (Are you using this chair?).
1aad 41 of Slad Lo % oy oasidl O O e Sl OgSS Y A8 Sliad g-Tver w)}ybﬁu\s 2y9ds il
Aie Jlaw

TNl s pusiud Jo 1l Jia
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Imagine that you need to borrow your friends’ car.
el e Byl i O iz il Yo

Imagine that you need to borrow your friends’ car.

This kind of request will impose the negative face of your friend.

(la) ) dzgll gl bl oo 9l 1ia

If you are not interested in being polite,

Ldge 0555 0L laige oS5 @) 0

you may simply use a declarative sentence (I need to borrow your car)

or imperative (Lend me your car).
eyl 356 1l 8ylall o]

You can soften your imperative by adding (please).
please a3Lxb &Yl elile ouass bl

More polite: You can employ an apology (I’'m so sorry to impose...),
JTar CawT O e lduedl plusin] &Sy 48T Cudgilg

an indirect request (I was wondering if | could... or Would you mind if I...),
e 13) B3 U il e S 08 O] el 3] ke bl e lall

.

or another marker of deference (I know that this probably going to be a hassle for you...).

Understanding how successful communication works is actually a process of interpreting
not just whatspeakers say, but what they “intend to mean.

gy digbuaiy bl b Ogiasuill dgis bd ud auds ddos 8190l 3 98 aar Wl JUas! Joay (oS ogd
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Exercises:

Someone stands between you and the TV set you’re watching, so you decide to say one
of the following. Identify which would be direct or indirect speech acts.

a) Move!
b) You’re in the way.
c) Could you please sit down?
d) Please get out of the way.

HiH
In these examples, is the speaker appealing to positive or negative face?

a) If you’re free, there’s going to be a party at Yuri’s place on Saturday.
a person’s negative face
028 4d e (ol
b) Let’s go to the party at Yuri’s place on Saturday. Everyone’s invited.

a person’s positive face
25 4 gl

HHH

Make this sentence more polite:

“Give me a double cappuccino, no whip.”

REUENE R
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In the field of linguistics, politeness is mainly related to the concept of:
Face

Hitt
Negative politeness is about respecting the negative face of others. An example of that is:

Apologizing.

HHH

Only one of the following expressions is considered a face-saving act. Which one is it?

deod

U Face-saving acts that emphasizes a person’s negative face
or
U Face-saving acts that emphasizes a person’s positive face

: W e egine Bu>g S ,S13 (S gaally
)Negative face)

=1’'m sorry to bother you ...
=1 know you’re busy, but ...

(Positive face)

= Let’s do this together ...
=You and | have the same problem, so ...

VY B bl dulgs
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(1Y) Bpolone
Metaphors & Idioms

Metaphor is a figure of speech in which a word (or a phrase) is applied to an object o acti
on to which it is not literally applicable.
e 5adatl B 035 Y G ol (36 ] Bylee of dakS Guudas Lgud @i &M Bygu0 (B Bylasus|
Many people think of a metaphor as a device reserved for the use of authors poets, but in

fact, metaphor is so embedded in our language that we do not notice most of it.
It has a prominent place in our daily conversation.
G o i Y 3 Bylatadl @lgll (§ oS eshpaddl QLS e 38 B)laiaedl plustnl OF (il oy iSO diiny

We use metaphor when speaking about even commonplace ideas like time.
gl e daslad] 8N e Cadsdl (§ Bylaiwdl puscind

We treat time just like money, or other valuable materials.
gl 3N gall (ye &l g Jlo Ay CB gl o Jalas

» You’re wasting my time. . 589 guiai el 1Jgiid
> This way will save you hours. .olele elide 4845 Cagu disylall oda
»  How do you spend time these days? ?‘algiﬂ ol clidg (o2l s
» You need to budget your time. .clidgy) ddlpe Jazs Of Elasls
» ' have invested a lot of time in this project. .g9 &l lda (§ <89l o SII U paiicnl &)
> He’s living on borrowed time. .glall e84l (§ i 4]
» What is the basis for this metaphor?$8;liwel oda (3 pludl b

There is no similarity between time and money.
Jledlg gl o duds drg LB ud

What brings these concepts together is the perception that time is like a valuable
commodity that can be gained or lost.

i g LgruS Sy (I Al pdudl Jio I O SliieY 9o las (aggindl pdd aaz S

entsab.com $D@AGannat2060 @b : &uﬁ RED@AbuAl7arith Eudled yd g AT ¥ elat é)bﬁ"ﬁ‘ dazl o (R @)E}



https://twitter.com/AbuAl7arith
https://twitter.com/AGannat2060
http://www.entsab.com/vb/

Conceptual Metaphordwlaal! §ylaiwd!
)refers to the understanding of one idea in terms of another)

(531 8,58 0gd o Uy Lo 8,53 0gd J) 45 (Ane g4iall o) danalisell Bylazul

Examples from George Lakoff and Mark Johnson’s book “Metaphors We Live By” (1980)
g Lol (A Obladiwdl O gud 92 Hylag AySY zygxr QUS (e TV I

(Y)ARGUMENT IS WAR.y> soldsdl

» In everyday language, we say: :Jgi cdwgdl Ul §
> Your claims are indefensible.lge W (Sax Y elilsles|
> He attacked every weak point in my argument.il& § cand das (S e
> His criticisms were right on target. .Jaualb Cugll e 38 dilalas!
> I've never won an argument with him.dse (il § & pail ol Jd e o
> He shot down all of my arguments. .3ls& 8 sl ual

The conceptual metaphor

(2) TIME IS MONEY: Jb cdgll

»  We spend time or save it; 4de Ladl of 39 ok
»  we invest time, .c8¢)l yediwd
»  budget time, c34¢)l dilme
» and sometimes run out of time; <3¢l uak Gl
> we can borrow time, or spare it. .0l gl B¢l 8)laiesl LiSas
» You may not consciously think of ideas as plants.co Bl Jie ;8831 o (g g0 ,Sa5 O ebiSas Y

(Y)IDEAS ARE PLANTSCULS 4891

> Allows up to plant ideas, J58Y1 del)3 Flowdl
»  watch them grow, 9035 lgio§)
» and hope that they come to fruition.ﬁif ob eVl

(¢£)UNDERSTANDING IS SEEING. 43l 92 gl

| see your point!s)las dg=>g ()1 Ul
s dgzrg Cangd Ul gna
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A spatial metaphordJSel! 8 laiwd!

Involves the use of words that are primarily associated with spatial orientation to talk ab
out physical and psychological states.
I e Egdol) GEal drgill o JgI1 plaall Lasys 1 ol plustid e d58a 8)laiwd!
a9 Doz

happy is up
"UAAS" sy "'&Gi" Dw}]l:, LGJJ! JL&J Eé‘a.au."ﬁlﬁ-’ ‘%A

» I'm feeling up(Jls $9) sall yaidl
> that boosted my spirits 3Lgiae 28y U3
> my spirits rose caxdl)l JLgixe
> You’re in high spirits a3, cbgiaes il
» that gave me a lift (3Lsine ad)) JeY dads lacl el

Sad is down

Sl oLV g sl O3l lad

» I'm feeling down(buaYb 3ol pail (aae) bgags 2l
» he fell in a depression&&! 3 asw
»her spirits sank@,ss 4bgine
»  he's feeling low(blaYUb) bl pain
> the depths of depression& Bl Blasi
HHH

health and life are up
Al ol gyl Blelly doesall s

> He’s at the peak of healthd=all 4a3 Je 30
> She rose from the deadwgall oy Cndl)
> He’sin top shapedsiiy dl> 4§ 4|

sickness and death are down

Sl oYL Lag! )i Cigally (25l

» He’s sinking fastde w0 @,i &)
> She come down with the fluel; glasl xo (cdasd) ygad5 Wil
> He’s feeling under the weather gzl o 4l y=do
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The basis for these special metaphors seems to relate to our physical experience: Unhappin
ess and ill health could mean tiredness and inactivity which involve being on one’s back
(physically down).

Co b Jgasdly Gl (qom 13 uall elegill Bolaudl pae (A8l o)l Lipse adys whlatwdl ods ol
(il Sl ol oyliiel @ind) e 09Ss pasid! Of e

In contrast, happiness and good health are often correlated with energy and movement,
which involve being on one’s feet (physically up).

dedd e (aseidl 0950 OF ity bo ¢ dSy=lg BUalb 3lass bo Bale Buusdl dsually Balaud! OB ¢ Sl e
. Jel ol Lo 4] 8)layl quzd Laslg
Idiom 41-‘>>ano| d)lus

An idiom is an expression whose meaning cannot be derived directly from the string of

words that make up the expression.
A3 (I Ol Jundaa IS (30 8o cas g Of sliaa) San Y a2 &oMasodl 8Ll

For example, if something is a piece of cake, it is easy to do.
4 L)) Jgud) (po T an 1g €"CLS oy dadad” Lo T O O] cJliadl s Ao

If an idea is completely off the wall, you may not be able to make heads or tails of it.
g Jgad9 (wad) B Oes Y & o= ldgd ¢ ylal E)B- Lo 8,58 CASSQ‘\j

Whether you hit books or hit the sack, you aren’t actually physically hitting anything.

Your hands are not physically involved in lending someone a hand (Joke: what if the person
did not return it?)

I eads Bale) bals (peasais o) ey
Sl paseadl el aay o o 3le s

kick the bucket: to die
Oges il (S

fly off the handle: to lose one’s temper

Dlgso eadl diddy of 1 padell e alay

spill the beans: to give away a secret or a surprise
O;L>LO.A ‘9”;‘.«: 6\1«9“ ;U}plﬂj‘ ug.w
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red hearing: to introduce irrelevant arguments
o290l 4 dBMe Y Juldd @5 © o pass

Although an idiom is semantically like a single word, it does not function like one. Thus, we
will not have a past tense * kick the bucketed. Instead, it functions to some degree as a nor
mal sequence of grammatical words, so that the past tense is form is kicked the bucketed.

dpaabs ol AWl (o Jamy Y OT Y] By dalSS 9 Y1 &Ll (g0 AoV Bylaadl OF (p0 &1 e
RRESPRIN Y

oo 2l OB 1
<kick the bucket (.JIkick the bucketed
oo 92l 01 1 gouill OlalSl sdall Juadaaill i Lot ) Jons Lgld il e Lo
kick the bucket @ 0909 kicked the bucketed

But there are other grammatical restrictions

TE S PE ST W-A]
But there are other grammatical restrictions.

A large number of idioms contain a verb and noun, but although the verb may be placed
in the past tense, the number of the noun can never be changed.

T3] oplall gl § 0550 0f s Jaddl 0 3o sl o9 egnls Slad (s AuoDlaodl leall o S 32
Tl esas i of oSa Y @l O

We have spilled the beans, but not *spilled the bean
bean Jgd oSe Y Sdbeans Jgis e
Syia 3950 O JuoIlg caaz Lgud sl el OY cdidols dllial LT dliaYl

fly of the handles*
kick the buckets*

put on good faces*
blow one’s tops*
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idiom vs. Metaphor
§ylasiwdl (blie (§ dumMaso)! 8l

An idiom is an expression where the meaning is not immediately apparent from a literal i
nterpretation of the words.

(Ol (§ o) el oo Bl yghay Y (saell lgd puas (2 doDasodl 6yl

A metaphor is a comparison made between A and B, where you say A actually is B, even t
hough that’s not literally true.

gﬂ)awéﬂ|6¢uﬂ|uig‘ojj.‘&cu&&&&bidﬁbwwjcugiu'pa.a)m.oumé)laj.wy\

WS W Lo clo B aolxa]l B4 @ el Al Al

Determine the only spatial metaphor among the following:
He is feeling down today.

Hitt
is an expression whose meaning can not be derived directly from the string of
words that make up that expression.
An idiom

Hitt
Which among the following in considered a well-written idiom?
»  Fly off the handles
»  Spilled the beans
»  Kick the buckets
»  Blow one’s tops

HitH
Which of these sentences contains an idiom. Which one is it?
to hit the sack early tonight***
QiYL dowsly e Aol 0 gl Joxe
2929 ‘o..e.oj‘

hit the sack
9l
hit books

VY B polomall Cagil!
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(V¥) 8oloee
The Co-Operative Principle
A glandl e
In order to interpret an utterance correctly, one need to follow some conversation rules
(our understanding of how language is used in particular situations to convey a message)
P B3lge (3 Al plusuinl 4aS 0g8) Hlgadl delgd any ELSI ) bl zlizs (oo St J9d undd Jo1 (30
(Uil clU3 Sl aaall o Dl I oM digs

# 1f 1 ask you:
SWould you like to go to a movie tonight?
CAL el ) Claddl 5g5 Jo telidls 0
c=and you responded:
2l have to study for an exam,
Qksd dwhll Je el cuzly

| know that you are declining my invitation even though there is nothing in the literal
meaning of the sentence that says no.

Y eds el e Jo b elisd) 35l gl 3 dzge Y il o) (J5e5 Cundy ud il @lel BT L

As speakers of a language, we are able to draw inferences about what is meant but
not actually said.

2 3 Ui o o) 3> dguaiall 50 Lo Jg> olrbiiias] (oMl (e 8)adll o) dho A4 (pbdmieS

Information that is conveyed in that way is implicature.
(Aolas lolliul) dipasss loglas (o diylall 0dgy BLS wiy (&l Sloglasdl

The general overarching guideline for conversational interactions is often called the
co-operative principle.
-l Tasadl gade (3llay L W dullasdl cdlelal) pladl Jolad) (uzgil Tl

The co-operation principle:dc glad! fuwe
»  Make your contribution appropriate to the conversation.
Jb:;U A5 e o da:g

»  Supporting this principle are four maxims, often called the “Gricean maxims.”
ety Colgh Lo Bale culgh dayyl Taaall 1o @ey

Quantity, Quality, Relation, and Manner.
Cokad)l ol Jaal (ABMal B gl ¢daeSUl 1 o ol (S
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The Quantity maxim:
Make your contribution as informative as is required, but not more, or less, than is required

4] Zlizally Cgllaall o J8T Y9 8T cdalonll juB e cliadlins § omatll JA8 Jaz 1Sl cols

The Quality maxim:
Do not say that which you believe to be false or for which you lack adequate evidence.
Wlao 436 AoV 3185 b ol L8 a5l wisas e &5 Y 183 g2el cls

The Relation maxim: Be relevant.
dadyeg d8Me I3 Eliadlune )9S5 1AM ol

The Manner maxim: Be clear, brief and orderly.
‘o.bwoj 41643.9'90 :L::.,b\g 05:_19.0.1]\37 u}ng)“ CA)B

We use hedges to show that we are concerned about following the maxims while being
co-operative participants in conversation.

Hedges are words or phrases used to indicate that we’re not really sure that what we’re say

ing is sufficiently correct or complete.
(B9 B S e i Lo il (puSTie liad LT gy s Lgadsinnd chlie ol Gl (o ol gl

We can use sort of or kind of as hedges on the accuracy of our statements,
L3lou s 485 e Olb gl (yo #1957 Bule plusinl LiSy
as in :dieYl e
> His hair was kind of long Jsb L le g5 ayais
or
> The book cover is sort of yellow. yueY! (10 £93 QUSII CBMe

These are examples of hedges on the Quality maxim.
B¢l Coll jas lewd Oilb gl (o &[yi ol

Other examples would include the expressions that people sometimes put at the beginning
of their conversational contributions.

L)lgo) eglolgunl Aty (3 Bale bl lgadstiuy () Olarail] (youail ub (5,331 el

»Asfaraslknow ..., ... ple s Je
»  Now, correct me if I'm wrong, but ... ... oS dibls S o) J ey oYl
> I'm not absolutely sure, but ... ... oS deled uSTe cd
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Hence the difference between saying

» Jackson is guilty
de OguSle

» and | think it’s possible that Jackson may be guilty.
csde 0950 91 Jetiadl (pe O guSle & daied

In the first version, we will be assumed to have very good evidence for the statement.
(the Maxim of Quality)

B g2d)l cull // gupaill M e bgd s Lo of (2 as Jodl Jlad!

Flouting or Violating the Maxims<ul gl Slgily slygiw!
The Maxim of Quantity: 4w coli

A. How do | look?
B. Your shoes are nice.

Speaker A here would understand that the whole appearance is not that appealing which
made speaker B comment only on a small part of it.

0ygtas (o pio iz e Jadd Gla O Gusiedl Jaz U e i jud 0ygkan (5OT el L T Eaumiall

Another example is when someone asks
e2d>] Jlug beie ,5T Jlie

Have you finished your homework and cleaned your room?
Celis e calaig ey Cugl U

and the reply is | have finished my homework.
(e>9 cugdl 2 LY 36

The Maxim of Quality 839! Cob
requires that the statements used in a conversation have some factual basis.
(2319 el L Jlsd! (§ dedstnall pobatll 0585 0L piliuwn 83922l ol

If we are in middle of the summer in Riyadh, for example, and | ask
redlg el daw de el @ Camall Jawg (3 US 0]

What'’s the weather like today?
ool o2l 92 oS
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And someone responds It’s snowing as usual,

B8 i g3 tpad>T JBg

| would know that the statement is not intended to be true but perhaps irony or sarcasm.

(oSl ol & yseadl syl o > 1950 O dis 3 guniall ud g paill 13 OF Qe 0sSTu

HitH
The Maxim of Relation: !l of a8l cols
Failure to respect the maxim of relation creates an odd effect.

13 [0 3lso BNl colb puas § Jidll

For example, if someone asks you

ead> Gl o] Jball Yoo e

Have you finished your homework yet?
Teherly ol Jo

and you responded It’s being raining a lot lately, hasn’t it?
TS Ll (sl (3 Bl ylacs Lgi] 1 dy

You violated the Maxim of Relation by not responding in a relevant way.
A8 3 A ylay ehlavia iy A8l ol Sl el

But by giving this response, you signal that you want to change the topic of conversation.
._)‘}?:J\ &Wﬁﬁﬂas u\:’)j oY leﬁ"‘ﬁ ol c.)).]‘ ‘.,\.@J s
Hit
The Maxim of Mannerc gl oi Jasidl cols
In the following exchange, B flouts the maxim of manner, thereby implying that an open dis

cussion of the ice cream is not
desired:

Cokadl 5l Jaaill coly (g o e JWI 1l
1ooeye e )8 el zaiaell Gl G Grasas Ol 1y
A: Let’s get the kids something.

B: Okay, but | veto |-C-E C-R-E-A-M-S.
JabAW s s beo

e§)ﬂw§w3&>buwioﬁc(€wlg
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Exercise:

Which maxim does this speaker seem to be particularly careful about?
| may be mistaken, but | thought | saw a wedding ring on his finger.
a) The Quantity maxim.

b) The Quality maxim.

c) The Relation maxim.
d) The Manner maxim.

. ioo.‘

3.5.'9333 ! SV P.A

g doiog 1 e g dose Ul e ehodluwg elilgho V!
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